					GROUND INC.				BUILDERS, INC.	I	K DERR & CO, NC.
				8375 M	elrose Dr.	5149	SW US 17		3RD ST. E.		ANGE AVE.
					KS 66214		IA, FL 34266		TA, FL 34243		ΓA, FL 34234
				913-4	38-2981	863	-993-2588	941-	758-1933	941-3	55-8575
					EXTENDED	UNIT	EXTENDED	UNIT	EXTENDED		EXTENDED
NO.	DESCRIPTION	U/M	QTY	UNIT PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	UNIT PRICE	PRICE
1	MOBILIZATION	LS	1	\$41,000.00	\$41,000.00	\$27,622.08	\$27,622.08	\$225,000.00	\$225,000.00	\$34,275.00	\$34,275.00
2	MISCELLANEOUS WORK AND CLEAN-UP	LS	1	\$28,000.00	\$28,000.00	\$81,062.98	\$81,062.98	\$110,000.00	\$110,000.00	\$39,100.00	\$39,100.00
3	3" DUCTILE IRON PIPE WATER MAIN	LF	95	\$61.00	\$5,795.00	\$42.64	\$4,050.80	\$125.00	\$11,875.00	\$42.15	\$4,004.25
4	6" DUCTILE IRON PIPE WATER MAIN	LF	223	\$27.00	\$6,021.00	\$38.50	\$8,585.50	\$66.00	\$14,718.00	\$37.50	\$8,362.50
5	8" DUCTILE IRON PIPE WATER MAIN	LF	605	\$35.00	\$21,175.00	\$33.63	\$20,346.15	\$67.00	\$40,535.00	\$29.85	\$18,059.25
6	10" DUCTILE IRON PIPE WATER MAIN	LF	479	\$37.00	\$17,723.00	\$42.30	\$20,261.70		\$40,715.00		\$18,633.10
7	12" DUCTILE IRON PIPE WATER MAIN	LF	105	\$40.00	\$4,200.00	\$81.38	\$8,544.90	\$130.00	\$13,650.00	\$60.15	\$6,315.75
8	16" DUCTILE IRON PIPE WATER MAIN	LF	5,146	\$67.00	\$344,782.00	\$62.27	\$320,441.42	\$93.00	\$478,578.00	\$64.85	\$333,718.10
	16" DIP SUPPLIED BY MANATEE COUNTY										
	(ADDENDUM #2) PROVIDE INSTALLATION										
8a	COST ONLY	LF	220	\$21.00	\$4,620.00	\$13.95	\$3,069.00			\$24.85	\$5,467.00
9	DUCTILE IRON FITTINGS, WATER	TON	12.50	\$5,600.00	\$70,000.00	\$3,095.05	\$38,688.13	\$12,000.00	\$150,000.00	\$5,200.00	\$65,000.00
10	4" JOINT RESTRAINTS	EA	2	\$67.00	\$134.00	\$40.53	\$81.06	\$65.00	\$130.00		\$160.00
11	6" JOINT RESTRAINTS	EA	36	\$170.00	\$6,120.00	\$46.14	\$1,661.04	\$77.00	\$2,772.00	\$90.00	\$3,240.00
12	8" JOINT RESTRAINTS	EA	55	\$210.00	\$11,550.00	\$70.28	\$3,865.40	\$105.00	\$5,775.00	\$130.00	\$7,150.00
13	10" JOINT RESTRAINTS	EA	87	\$250.00	\$21,750.00	\$116.83	\$10,164.21	\$170.00	\$14,790.00	\$195.00	\$16,965.00
14	12" JOINT RESTRAINTS	EA	45	\$320.00	\$14,400.00	\$127.17	\$5,722.65	\$225.00	\$10,125.00	\$215.00	\$9,675.00
15	16" JOINT RESTRAINTS	EA	171	\$440.00	\$75,240.00	\$261.42	\$44,702.82	\$375.00	\$64,125.00	\$380.00	\$64,980.00
16	THRUST BLOCKS	CY	7	\$305.00	\$2,135.00	\$386.30	\$2,704.10	\$215.00	\$1,505.00	\$255.00	\$1,785.00
	16" JACK AND BORE CROSSING @ 7'										
17	DEPTH	LF	46	\$400.00	\$18,400.00	\$372.90	\$17,153.40	\$630.00	\$28,980.00	\$770.00	\$35,420.00
	24" JACK AND BORE CROSSING @ 8'										
18	DEPTH	LF	30	\$615.00	\$18,450.00	\$447.47	\$13,424.10	\$1,000.00	\$30,000.00	\$1,140.00	\$34,200.00
	24" JACK AND BORE CROSSING @ 12'										
19	DEPTH	LF	30	\$615.00	\$18,450.00	\$439.50	\$13,185.00	\$1,060.00	\$31,800.00	\$1,175.00	\$35,250.00
	30" JACK AND BORE CROSSING @ 10'										
20	DEPTH	LF	32	\$435.00	\$13,920.00	\$500.62	\$16,019.84	\$1,225.00	\$39,200.00	\$995.00	\$31,840.00
	30" JACK AND BORE CROSSING @ 11'										
21	DEPTH	LF	102	\$380.00	\$38,760.00	\$459.38	\$46,856.76	\$825.00	\$84,150.00	\$600.00	\$61,200.00
	30" JACK AND BORE CROSSING @ 11'										
22	DEPTH	LF	130	\$375.00	\$48,750.00	\$450.85	\$58,610.50	\$800.00	\$104,000.00	\$555.00	\$72,150.00
	30" JACK AND BORE CROSSING @ 13'										
23	DEPTH	LF	100	\$380.00	\$38,000.00	\$462.89	\$46,289.00	\$825.00	\$82,500.00	\$605.00	\$60,500.00
24	12" X 10" TAPPING SLEEVE/VALVE	EA	3	\$3,500.00	\$10,500.00	\$3,831.97	\$11,495.91	\$8,300.00	\$24,900.00		\$14,040.00
25	12" X 6" TAPPING SLEEVE/VALVE	EA	3	\$2,100.00	\$6,300.00	\$2,372.35	\$7,117.05				\$9,615.00
26	2" GATE VALVE	EA	1	\$405.00	\$405.00	\$612.50	\$612.50				\$600.00
27	6" GATE VALVE	EA	7	\$835.00	\$5,845.00	\$921.59	\$6,451.13				\$6,615.00
28	8" GATE VALVE	EA	4	\$1,200.00	\$4,800.00	\$1,216.18	\$4,864.72	\$1,350.00	\$5,400.00	\$1,245.00	\$4,980.00
29	10" GATE VALVE	EA	5	\$1,700.00	\$8,500.00	\$1,882.60	\$9,413.00	\$1,900.00	\$9,500.00	\$1,860.00	\$9,300.00
30	12" GATE VALVE	EA	3	\$2,000.00	\$6,000.00	\$2,115.75	\$6,347.25	\$2,200.00	\$6,600.00	\$2,100.00	\$6,300.00
31	16" BUTTERFLY VALVE	EA	11	\$3,900.00	\$42,900.00	\$3,657.94	\$40,237.34	\$3,800.00	\$41,800.00	\$3,615.00	\$39,765.00

				ET MA	CKENZIE OF	DAME	FOOTE	_	ODODEDO	OLOT TOWN	CONTRA CONTRA
					1		FOOTE		ORSBERG		CONTRACTING
					RIDA, INC.		NMENTAL		RUCTION, INC.		TH, LLC
				6212	33RD ST E	6091 GREEN	BRIAR FARMS	6475 GOI	LF COURSE BLVD	14525 SHA	DY HILLS RD
				BRADEN	TON, FL 34203	FT. MYEI	RS, FL 33905	PUNTA	GORDA, FL 33982	SPRING H	ILL, FL 34610
				941	-756-6760	239-3	69-6146	9,	41-637-8500	(863)	665-7867
				UNIT	EXTENDED		EXTENDED	UNIT	EXTENDED	<u> </u>	EXTENDED
NO.	DESCRIPTION	U/M	QTY	PRICE	PRICE	UNIT PRICE	PRICE	PRICE	PRICE	UNIT PRICE	PRICE
1	MOBILIZATION	LS	1	NO BID	NO BID	\$37,445,00	\$37,445.00		NO BID		<u> </u>
			<u> </u>		110 818	407,440.00	407,440.00	NO BID	140 010	\$140,373.00	\$140,373.00
2	MISCELLANEOUS WORK AND CLEAN-UP	LS	1 1	NO BID	NO BID	\$12,124.00	\$12,124.00	NO BID	NO BID	\$40,600,00	\$40,600.00
3	3" DUCTILE IRON PIPE WATER MAIN	LF	95	NO BID	NO BID	\$48.00		NO BID	NO BID		\$4,240.80
4	6" DUCTILE IRON PIPE WATER MAIN	LF	223	NO BID	NO BID	\$42.00		NO BID	NO BID		\$9,441.82
5	8" DUCTILE IRON PIPE WATER MAIN	LF	605	NO BID	NO BID	\$44.00		NO BID	NO BID		\$27,448.85
6	10" DUCTILE IRON PIPE WATER MAIN	LF	479	NO BID	NO BID	\$50.00			NO BID		
7	12" DUCTILE IRON PIPE WATER MAIN	LF	105	NO BID	NO BID	\$64.00					\$23,950.00
8	16" DUCTILE IRON PIPE WATER MAIN	LF	5,146	NO BID	NO BID	\$80.00			NO BID		\$7,210.35
	16" DIP SUPPLIED BY MANATEE COUNTY		3,140	NO BID	NO BID	\$80.00	\$411,08U.UU	NO BID	NO BID	\$72.01	\$370,563.46
	(ADDENDUM #2) PROVIDE INSTALLATION		1								
8a	COST ONLY	LF	220	110 515							
9	DUCTILE IRON FITTINGS, WATER			NO BID	NO BID	\$27.00		NO BID	NO BID	7	\$4,818.00
10	4" JOINT RESTRAINTS	TON	12.50	NO BID	NO BID	\$7,304.00	\$91,300.00	NO BID	NO BID		\$25,550.75
		EA	2	NO BID	NO BID	\$73.00	\$146.00		NO BID		\$122.20
11	6" JOINT RESTRAINTS	EA	36	NO BID	NO BID	\$79.00	\$2,844.00	NO BID	NO BID		\$4,647.60
12	8" JOINT RESTRAINTS	EA	55	NO BID	NO BID	\$124.00	\$6,820.00	NO BID	NO BID	\$181.25	\$9,968.75
13	10" JOINT RESTRAINTS	EA	87	NO BID	NO BID	\$172.00	\$14,964.00	NO BID	NO BID	\$267.79	\$23,297.73
14	12" JOINT RESTRAINTS	EA	45	NO BID	NO BID	\$202.00	\$9,090.00		NO BID	\$304.23	\$13,690.35
15	16" JOINT RESTRAINTS	EA	171	NO BID	NO BID	\$342.00	\$58,482.00	NO BID	NO BID	\$593.95	\$101,565.45
16	THRUST BLOCKS	CY	7	NO BID	NO BID	\$1,056.00	\$7,392.00	NO BID	NO BID	\$250.00	\$1,750.00
	16" JACK AND BORE CROSSING @ 7'										
17	DEPTH	LF	46	NO BID	NO BID	\$515.00	\$23,690.00	NO BID	NO BID	\$525.36	\$24,166.56
l	24" JACK AND BORE CROSSING @ 8'						,				
18	DEPTH	LF	30	NO BID	NO BID	\$773.00	\$23,190.00	NO BID	NO BID	\$845.15	\$25,354.50
	24" JACK AND BORE CROSSING @ 12'										
19	DEPTH	LF	30	NO BID	NO BID	\$773.00	\$23,190.00	NO BID	NO BID	\$845.15	\$25,354.50
	30" JACK AND BORE CROSSING @ 10'									•	100 100 100
20	DEPTH	LF	32	NO BID	NO BID	\$672.00	\$21,504.00	NO BID	NO BID	\$847.88	\$27,132.16
	30" JACK AND BORE CROSSING @ 11'									******	427,102.10
21	DEPTH	LF	102	NO BID	NO BID	\$619.00	\$63,138.00	NO BID	NO BID	\$847.88	\$86,483.76
	30" JACK AND BORE CROSSING @ 11'								110 010	\$ WAR	<del>000,400.70</del>
22	DEPTH	LF	130	NO BID	NO BID	\$595.00	\$77,350,00	NO BID	NO BID	\$847.88	\$110,224.40
	30" JACK AND BORE CROSSING @ 13'					400.00	<b>477,000.00</b>	110 2.2	NO BID	Ψ047.00	<u>Ψ110,224.40</u>
23	DEPTH	LF	100	NO BID	NO BID	\$618.00	\$61,800.00	NO BID	NO BID	\$865.62	\$86,562.00
24	12" X 10" TAPPING SLEEVE/VALVE	ĒA	3	NO BID	NO BID	\$5,241.00	\$15,723.00	NO BID	NO BID	\$4,231.25	\$12,693.75
25	12" X 6" TAPPING SLEEVE/VALVE	EA	3	NO BID	NO BID	\$3,697.00	\$11,091.00	NO BID	NO BID	\$4,231.25	
26	2" GATE VALVE	EA	1	NO BID	NO BID	\$796.00	\$796.00	NO BID	NO BID	\$2,870.92 \$468.51	\$8,612.76
27	6" GATE VALVE	EA	7	NO BID	NO BID	\$1,363.00	\$9,541.00	NO BID	NO BID	\$468.51 \$855.96	\$468.51
28	8" GATE VALVE	EA	4	NO BID	NO BID	\$1,922.00	\$9,541.00	NO BID	NO BID		\$5,991.72
29	10" GATE VALVE	EA	5	NO BID	NO BID						\$4,569.00
30	12" GATE VALVE	EA EA	3		<del></del>	\$2,496.00	\$12,480.00	NO BID	NO BID	\$1,672.19	\$8,360.95
31	16" BUTTERFLY VALVE	EA EA	11	NO BID	NO BID	\$2,990.00	\$8,970.00	NO BID	NO BID	\$2,010.89	\$6,032.67
<u> </u>	TIO DOTTERFET VALVE	EA		NO BID	NO BID	\$3,128.00	\$34,408.00	NO BID	NO BID	\$2,377.21	\$26,149.31

SSRVICTS NC.   CONSTRUCTION, INC.   CARL HANNEN, R.C.   CONSTRUCTION, INC.   PO BOX 1087					GENERAL C	ONTRACTING	GULFCO	AST UTILITY			KUX	HAUSEN
PACIDIA, PL. 13946   ST. PETERSURG, FL. 33713   TAMPA, FL. 33414   SARASOTA, FL. 3474-693   941-37-2497   737-328-782   813-977-729   941-37-7298   941-37-7299   941-37-7298   941-37-7299   941-37					SERVIC	CES, INC.	CONSTRU	JCTORS, INC.	CARL HA	NKINS, INC.	CONSTRU	ICTION, INC.
No   DESCRIPTION					POB	OX 630	1363 2	2ND ST N	14512 N. NE	BRASKA AVE.	PO Bo	OX 21087
No   DESCRIPTION					PLACIDA	A, FL 33946	ST. PETERS	BURG, FL 33713	TAMPA	. FL 33613	SARASOTA	. FL 34276-4087
NO.   DESCRIPTION   UMI   OTY   UNIT PRICE   EXTENDED   UNIT PRICE   PRICE   UNIT PRICE   PR												
NO   DESCRIPTION									0.5			
2 MISCELLANEOUS WORK AND CLEAN-UP 3 "DUCTILE IRON PIPE WATER MAIN 1 F 95 33.04.00 \$30.00.00 \$30.00.00 \$30.00.00 \$30.00.00 \$40.00				QTY	UNIT PRICE				UNIT PRICE	1		<b>II</b>
3 "DUCTILE IRON PIPE WATER MAIN LF 95 \$32.00 \$53.04.00 \$57.00 \$56.00 \$40	1	MOBILIZATION	LS	1	\$145,000.00	\$145,000.00	\$10,000.00	\$10,000.00	\$65,000.00	\$65,000.00	\$150,000.00	\$150,000.00
3 "DUCTILE IRON PIPE WATER MAIN LF 95 \$32.00 \$53.04.00 \$57.00 \$56.00 \$40												
4 6" DUCTILE IRON PIPE WATER MAIN LF 605 \$35.00 \$21.15.00 \$80.00 \$35.00 \$35.00 \$31.46.00 \$40.00 \$40.00 \$40.00 \$22.00.00 \$6.00 \$10" DUCTILE IRON PIPE WATER MAIN LF 479 \$35.00 \$17.244.00 \$35.50.00 \$37.00 \$35.30.00 \$30.00	l———				\$7,945.00	\$7,945.00	\$1.00	\$1.00	\$35,000.00	\$35,000.00	\$20,000.00	\$20,000.00
5 "DUCTILE IRON PIPE WATER MAIN LF 605 \$3:50.0 \$21:175.00 \$86:00 \$39:930.00 \$35:20.0 \$31:460.00 \$44.00 \$24:200.00 7.00 7.00 7.00 7.00 7.00 7.00 7.0	3		LF	95	\$32.00	\$3,040.00	\$60.00	\$5,700.00	\$68.00	\$6,460.00	\$49.00	\$4,655.00
6 (07 DUCTILL IRON PIPE WATER MAIN 7 127 DUCTILL IRON PIPE WATER MAIN F 105 \$56.00 \$57.00 \$80.00 \$90.00 \$80.00 \$22,950.00 \$30.00	<u> </u>	6" DUCTILE IRON PIPE WATER MAIN	LF	223	\$34.00	\$7,582.00	\$65.00	\$14,495.00	\$43.45	\$9,689.35	\$37.00	\$8,251.00
6 10" DUCTILE IRON PIPE WATER MAIN F 105 S\$6.00 S\$35.00 S\$1,244.00 S\$1,00 S\$1,0	5		LF	605	\$35.00	\$21,175.00	\$66.00	\$39,930.00	\$52.00	\$31,460.00	\$40.00	\$24,200.00
12" DUCTILE IRON PIPE WATER MAIN	6	10" DUCTILE IRON PIPE WATER MAIN	LF	479	\$36.00	\$17,244.00	\$70.00	\$33,530.00	\$60.50		\$50.00	
8   16" DUCTILE IRON PIPE WATER MAIN	7		LF	105	\$56.00	\$5,880.00	\$90.00					
16" DIP SUPPLIED BY MANATEE COUNTY   ADDEDNIUM #29 PROVIDE INSTALLATION   LF   220   \$37.00   \$83.00.00   \$40.00   \$88.800.00   \$42.00   \$9.240.00   \$26.00   \$57.20.00   \$9.00   \$17.50	8	16" DUCTILE IRON PIPE WATER MAIN	LF	5.146	\$71.00	\$365,366,00						
Ba   COST ONLY		16" DIP SUPPLIED BY MANATEE COUNTY	· ·					*,		40.001.0000		<b>\$</b>
Ba   COST ONLY		(ADDENDUM #2) PROVIDE INSTALLATION										
9 DUCTILE IRON FITTINGS, WATER TON 12.50 \$5,200.00 \$65,000.00 \$152,750.00 \$9,500.00 \$118,825.00 \$5,875.00 \$73,437.50 10 4" JOINT RESTRAINTS EA 2 \$51.00 \$500.00 \$300.00 \$150.0	8a		1 F	220	\$37.00	\$8 140 00	\$40.00	\$8.800.00	\$42.00	\$9.240.00	\$26.00	\$5.720.00
10   4" JOINT RESTRAINTS												
11   6" JOINT RESTRAINTS	I—-											
12   8" JOINT RESTRAINTS												
13 10" JOINT RESTRAINTS EA 87 \$286.00 \$24,882.00 \$400.00 \$33,800.00 \$22,500.00 \$300.00 \$22,446.00 \$300.00 \$22,100.00 \$14 12" JOINT RESTRAINTS EA 45 \$357.00 \$16,515.00 \$500.00 \$22,500.00 \$340.00 \$15,500.00 \$388.00 \$17,460.00 \$15 15 16" JOINT RESTRAINTS EA 171 \$456.00 \$77,976.00 \$750.00 \$122,500.00 \$340.00 \$15,500.00 \$388.00 \$317,460.00 \$15 15 16" JOINT RESTRAINTS EA 171 \$456.00 \$77,976.00 \$750.00 \$122,500.00 \$340.00 \$15,500.00 \$382,935.00 \$325.00 \$387,000 \$17,400.00 \$15,000.00 \$10,0												
14 12" JOINT RESTRAINTS EA 45 \$367.00 \$16;515.00 \$500.00 \$22,500.00 \$340.00 \$15,300.00 \$388.00 \$17,460.00 \$15 16" JOINT RESTRAINTS EA 171 \$455.00 \$77,976.00 \$750.00 \$128,250.00 \$445.00 \$82,935.00 \$82,935.00 \$89,775.00 \$89,775.00 \$16" JACK AND BORE CROSSING @ 7' DEPTH LF 30 \$510.00 \$19,872.00 \$350.00 \$13,500.00 \$250.00 \$1,750.00 \$486.00 \$3,760.00 \$10,935.00 \$10,	) <del></del>											
15 16" JOINT RESTRAINTS	<u> </u>				-							
16 THRUST BLOCKS												
16" JACK AND BORE CROSSING @ 7" DEPTH LF 46 \$432.00 \$19,872.00 \$355.00 \$16,100.00 \$258.50 \$11,891.00 \$415.00 \$19,090.00  24" JACK AND BORE CROSSING @ 8" LF 30 \$513.00 \$15,390.00 \$450.00 \$13,500.00 \$394.50 \$11,835.00 \$603.00 \$18,090.00  24" JACK AND BORE CROSSING @ 12" DEPTH LF 30 \$506.00 \$15,180.00 \$450.00 \$13,500.00 \$394.50 \$11,835.00 \$603.00 \$18,090.00  30" JACK AND BORE CROSSING @ 10" LF 32 \$545.00 \$17,440.00 \$550.00 \$17,600.00 \$350.50 \$11,216.00 \$436.00 \$13,952.00  30" JACK AND BORE CROSSING @ 11" LF 102 \$478.00 \$48,756.00 \$550.00 \$56,100.00 \$249.45 \$25,443.90 \$436.00 \$44,472.00  30" JACK AND BORE CROSSING @ 11" LF 102 \$478.00 \$49,500.00 \$550.00 \$71,500.00 \$223.58 \$29,065.40 \$437.00 \$56,810.00  20 DEPTH LF 100 \$495.00 \$49,500.00 \$550.00 \$13,950.00 \$217.20 \$21,720.00 \$436.00 \$43,600.00  24 12" X 10" TAPPING SLEEVE/VALVE EA 3 \$3,645.00 \$10,935.00 \$45,000.00 \$10,000.00 \$22,287.00 \$6,861.00 \$2												
17   DEPTH	16		LT_		\$488.00	\$3,416.00	\$500.00	\$3,500.00	\$250.00	\$1,750.00	\$468.00	\$3,276.00
24" JACK AND BORE CROSSING @ 8"  18 DEPTH  LF 30 \$513.00 \$15,390.00 \$450.00 \$13,500.00 \$394.50 \$11,835.00 \$603.00 \$18,090.00  24" JACK AND BORE CROSSING @ 12"  19 DEPTH  LF 30 \$560.00 \$15,180.00 \$450.00 \$13,500.00 \$394.50 \$11,835.00 \$603.00 \$18,090.00  20 DEPTH  LF 32 \$545.00 \$17,440.00 \$550.00 \$17,600.00 \$350.50 \$11,216.00 \$436.00 \$13,952.00  30" JACK AND BORE CROSSING @ 11"  21 DEPTH  LF 102 \$478.00 \$487.60 \$550.00 \$550.00 \$71,500.00 \$223.58 \$29,065.40 \$437.00 \$56,810.00  30" JACK AND BORE CROSSING @ 13"  DEPTH  LF 100 \$495.00 \$495.00 \$49,500.00 \$550.00 \$71,500.00 \$223.58 \$29,065.40 \$437.00 \$56,810.00  24 12" X 10" TAPPING SLEEVE/VALVE EA 3 \$2,645.00 \$10,935.00 \$4,092.00 \$13,000.00 \$22,720 \$21,720.00 \$4,092.00 \$12,246.00  25 12" X 6" TAPPING SLEEVE/VALVE EA 3 \$2,645.00 \$66,000 \$600.00 \$7,000.00 \$2,000.00 \$2,000.00 \$6,861.00 \$4,092.00 \$12,246.00  26 2" GATE VALVE EA 1 \$682.00 \$682.00 \$65,292.00 \$1,000.00 \$7,000.00 \$1,392.00 \$9,744.00 \$7,312.00 \$9,744.00 \$7,312.00 \$9,744.00 \$7,315.00 \$1,000.00 \$1,000.00 \$1,392.00 \$1,000.00 \$1,447.	47	1	۱.,	40								
18   DEPTH	17		LF	46	\$432.00	\$19,872.00	\$350.00	\$16,100.00	\$258.50	\$11,891.00	\$415.00	\$19,090.00
24" JACK AND BORE CROSSING @ 12' 19 DEPTH	40											İ
19   DEPTH	18		LF	30	\$513.00	\$15,390.00	\$450.00	\$13,500.00	\$394.50	\$11,835.00	\$603.00	\$18,090.00
30" JACK AND BORE CROSSING @ 10' 20 DEPTH  LF 32 \$545.00 \$17,440.00 \$550.00 \$17,600.00 \$350.50 \$11,216.00 \$436.00 \$13,952.00  30" JACK AND BORE CROSSING @ 11' 21 DEPTH  LF 102 \$478.00 \$48,756.00 \$550.00 \$56,100.00 \$249.45 \$25,443.90 \$436.00 \$44,472.00  30" JACK AND BORE CROSSING @ 11' 22 DEPTH  LF 130 \$482.00 \$62,660.00 \$550.00 \$71,500.00 \$223.58 \$29,065.40 \$437.00 \$56,810.00  30" JACK AND BORE CROSSING @ 13' 23 DEPTH  LF 100 \$495.00 \$49,500.00 \$550.00 \$550.00 \$217.20 \$21,720.00 \$436.00 \$436.00 \$436,00.00  24 12" X 10" TAPPING SLEEVE/VALVE EA 3 \$3,645.00 \$10,935.00 \$4,500.00 \$13,500.00 \$2,287.00 \$6,661.00 \$2,875.00 \$86,250.00  25 12" X 6" TAPPING SLEEVE/VALVE EA 1 \$682.00 \$682.00 \$500.00 \$500.00 \$800.00 \$487.00 \$487.00 \$487.00  27 G" GATE VALVE EA 1 \$682.00 \$550.00 \$1,000.00 \$7,000.00 \$1,392.00 \$9,744.00 \$738.00 \$5,980.00  28 B" GATE VALVE EA 4 \$1,245.00 \$4,980.00 \$1,750.00 \$8,855.00 \$1,880.00 \$7,150.00 \$2,237.50 \$1,887.50 \$1,447.00 \$7,235.00  29 10" GATE VALVE EA 3 \$2,345.00 \$7,035.00 \$1,750.00 \$8,800.00 \$1,18	4.0	_										
20 DEPTH	19		LF	30	\$506.00	\$15,180.00	\$450.00	\$13,500.00	\$394.50	\$11,835.00	\$603.00	\$18,090.00
30" JACK AND BORE CROSSING @ 11' 21 DEPTH												
21         DEPTH         LF         102         \$478.00         \$48,756.00         \$550.00         \$56,100.00         \$249.45         \$25,443.90         \$436.00         \$44,472.00           30" JACK AND BORE CROSSING @ 13"         LF         130         \$482.00         \$62,660.00         \$550.00         \$71,500.00         \$223.58         \$29,065.40         \$437.00         \$56,810.00           23         DEPTH         LF         100         \$495.00         \$49,500.00         \$550.00         \$55,000.00         \$217.20         \$21,720.00         \$436.00         \$43,600.00           24         12" X 10" TAPPING SLEEVE/VALVE         EA         3         \$3,645.00         \$10,935.00         \$4,500.00         \$13,500.00         \$3,855.00         \$11,565.00         \$436.00 <td< td=""><td>20</td><td></td><td>LF</td><td>32</td><td>\$545.00</td><td>\$17,440.00</td><td>\$550.00</td><td>\$17,600.00</td><td>\$350.50</td><td>\$11,216.00</td><td>\$436.00</td><td>\$13,952.00</td></td<>	20		LF	32	\$545.00	\$17,440.00	\$550.00	\$17,600.00	\$350.50	\$11,216.00	\$436.00	\$13,952.00
30" JACK AND BORE CROSSING @ 11' 22 DEPTH		_										
22         DEPTH         LF         130         \$482.00         \$62,660.00         \$550.00         \$71,500.00         \$223.58         \$29,065.40         \$437.00         \$56,810.00           30" JACK AND BORE CROSSING @ 13"         LF         100         \$495.00         \$49,500.00         \$550.00         \$55,000.00         \$217.20         \$21,720.00         \$436.00         \$43,600.00           24         12" X 10" TAPPING SLEEVE/VALVE         EA         3         \$3,645.00         \$10,935.00         \$4,500.00         \$13,500.00         \$3,855.00         \$11,565.00         \$4,082.00         \$12,246.00           25         12" X 6" TAPPING SLEEVE/VALVE         EA         3         \$2,520.00         \$7,560.00         \$4,000.00         \$12,000.00         \$2,287.00         \$6,861.00         \$2,875.00         \$8,625.00           26         2" GATE VALVE         EA         1         \$682.00         \$500.00         \$500.00         \$800.00         \$800.00         \$447.00         \$487.00           27         6" GATE VALVE         EA         7         \$756.00         \$5,292.00         \$1,000.00         \$7,000.00         \$1,392.00         \$9,744.00         \$738.00         \$5,166.00           28         8" GATE VALVE         EA         4         \$1,	21		LF	102	\$478.00	\$48,756.00	\$550.00	\$56,100.00	\$249.45	\$25,443.90	\$436.00	\$44,472.00
30" JACK AND BORE CROSSING @ 13"  LF 100 \$495.00 \$49,500.00 \$55,000.00 \$217.20 \$21,720.00 \$436.00 \$43,600.00 \$43,600.00 \$41,200.00 \$												
23         DEPTH         LF         100         \$495.00         \$49,500.00         \$55,000.00         \$217.20         \$21,720.00         \$436.00         \$43,600.00           24         12" X 10" TAPPING SLEEVE/VALVE         EA         3         \$3,645.00         \$10,935.00         \$4,500.00         \$13,500.00         \$3,855.00         \$11,565.00         \$4,082.00         \$12,246.00           25         12" X 6" TAPPING SLEEVE/VALVE         EA         3         \$2,520.00         \$7,560.00         \$4,000.00         \$12,000.00         \$2,287.00         \$6,861.00         \$2,875.00         \$8,625.00           26         2" GATE VALVE         EA         1         \$682.00         \$500.00         \$500.00         \$800.00         \$800.00         \$447.00         \$487.00           27         6" GATE VALVE         EA         7         \$756.00         \$5,292.00         \$1,000.00         \$7,000.00         \$1,392.00         \$9,744.00         \$738.00         \$5,166.00           28         8" GATE VALVE         EA         4         \$1,245.00         \$4,980.00         \$1,400.00         \$5,600.00         \$1,828.00         \$7,312.00         \$995.00         \$3,980.00           29         10" GATE VALVE         EA         5         \$1,760.00 <td< td=""><td>22_</td><td></td><td>LF</td><td>130</td><td>\$482.00</td><td>\$62,660.00</td><td>\$550.00</td><td>\$71,500.00</td><td>\$223.58</td><td>\$29,065.40</td><td>\$437.00</td><td>\$56,810.00</td></td<>	22_		LF	130	\$482.00	\$62,660.00	\$550.00	\$71,500.00	\$223.58	\$29,065.40	\$437.00	\$56,810.00
24       12" X 10" TAPPING SLEEVE/VALVE       EA       3       \$3,645.00       \$10,935.00       \$4,500.00       \$13,500.00       \$3,855.00       \$11,565.00       \$4,082.00       \$12,246.00         25       12" X 6" TAPPING SLEEVE/VALVE       EA       3       \$2,520.00       \$7,560.00       \$4,000.00       \$12,000.00       \$2,287.00       \$6,861.00       \$2,875.00       \$8,625.00         26       2" GATE VALVE       EA       1       \$682.00       \$682.00       \$500.00       \$800.00       \$800.00       \$487.00       \$487.00         27       6" GATE VALVE       EA       7       \$756.00       \$5,292.00       \$1,000.00       \$7,000.00       \$1,392.00       \$9,744.00       \$738.00       \$5,166.00         28       8" GATE VALVE       EA       4       \$1,245.00       \$4,880.00       \$1,400.00       \$5,600.00       \$1,828.00       \$7,312.00       \$995.00       \$3,980.00         29       10" GATE VALVE       EA       5       \$1,760.00       \$8,800.00       \$1,750.00       \$8,750.00       \$2,337.50       \$11,687.50       \$1,447.00       \$7,235.00         30       12" GATE VALVE       EA       3       \$2,345.00       \$7,035.00       \$2,000.00       \$6,000.00       \$2,900.00       \$8,700												
25         12" X 6" TAPPING SLEEVE/VALVE         EA         3         \$2,520.00         \$7,560.00         \$4,000.00         \$12,000.00         \$2,287.00         \$6,861.00         \$2,875.00         \$8,625.00           26         2" GATE VALVE         EA         1         \$682.00         \$500.00         \$500.00         \$800.00         \$487.00         \$487.00           27         6" GATE VALVE         EA         7         \$756.00         \$5,292.00         \$1,000.00         \$7,000.00         \$1,392.00         \$9,744.00         \$738.00         \$5,166.00           28         8" GATE VALVE         EA         4         \$1,245.00         \$4,980.00         \$1,400.00         \$5,600.00         \$1,828.00         \$7,312.00         \$995.00         \$3,980.00           29         10" GATE VALVE         EA         5         \$1,760.00         \$8,800.00         \$1,750.00         \$8,750.00         \$2,337.50         \$11,687.50         \$1,447.00         \$7,235.00           30         12" GATE VALVE         EA         3         \$2,345.00         \$7,035.00         \$2,000.00         \$8,000.00         \$8,700.00         \$1,815.00         \$5,445.00	<u> </u>			100	\$495.00	\$49,500.00	\$550.00	\$55,000.00	\$217.20	\$21,720.00	\$436.00	\$43,600.00
26       2" GATE VALVE       EA       1       \$682.00       \$500.00       \$500.00       \$800.00       \$487.00       \$487.00         27       6" GATE VALVE       EA       7       \$756.00       \$5,292.00       \$1,000.00       \$7,000.00       \$1,392.00       \$9,744.00       \$738.00       \$5,166.00         28       8" GATE VALVE       EA       4       \$1,245.00       \$4,880.00       \$1,400.00       \$5,600.00       \$1,828.00       \$7,312.00       \$995.00       \$3,980.00         29       10" GATE VALVE       EA       5       \$1,760.00       \$8,800.00       \$1,750.00       \$8,750.00       \$2,337.50       \$11,687.50       \$1,447.00       \$7,235.00         30       12" GATE VALVE       EA       3       \$2,345.00       \$7,035.00       \$2,000.00       \$6,000.00       \$2,900.00       \$8,700.00       \$1,815.00       \$5,445.00	<u> </u>			3	\$3,645.00	\$10,935.00	\$4,500.00	\$13,500.00	\$3,855.00	\$11,565.00	\$4,082.00	\$12,246.00
27         6" GATE VALVE         EA         7         \$756.00         \$5,292.00         \$1,000.00         \$7,000.00         \$1,392.00         \$9,744.00         \$738.00         \$5,166.00           28         8" GATE VALVE         EA         4         \$1,245.00         \$4,980.00         \$1,400.00         \$5,600.00         \$1,828.00         \$7,312.00         \$995.00         \$3,980.00           29         10" GATE VALVE         EA         5         \$1,760.00         \$8,800.00         \$1,750.00         \$8,750.00         \$2,337.50         \$11,687.50         \$1,447.00         \$7,235.00           30         12" GATE VALVE         EA         3         \$2,345.00         \$7,035.00         \$2,000.00         \$6,000.00         \$2,900.00         \$8,700.00         \$1,815.00         \$5,445.00	25	12" X 6" TAPPING SLEEVE/VALVE	EA	3	\$2,520.00	\$7,560.00	\$4,000.00	\$12,000.00	\$2,287.00	\$6,861.00	\$2,875.00	\$8,625.00
28       8" GATE VALVE       EA       4       \$1,245.00       \$4,980.00       \$1,400.00       \$5,600.00       \$1,828.00       \$7,312.00       \$995.00       \$3,980.00         29       10" GATE VALVE       EA       5       \$1,760.00       \$8,800.00       \$1,750.00       \$8,750.00       \$2,337.50       \$11,687.50       \$1,447.00       \$7,235.00         30       12" GATE VALVE       EA       3       \$2,345.00       \$7,035.00       \$2,000.00       \$6,000.00       \$2,900.00       \$8,700.00       \$1,815.00       \$5,445.00					\$682.00	\$682.00	\$500.00	\$500.00	\$800.00	\$800.00	\$487.00	\$487.00
28       8" GATE VALVE       EA       4       \$1,245.00       \$4,980.00       \$1,400.00       \$5,600.00       \$1,828.00       \$7,312.00       \$995.00       \$3,980.00         29       10" GATE VALVE       EA       5       \$1,760.00       \$8,800.00       \$1,750.00       \$8,750.00       \$2,337.50       \$11,687.50       \$1,447.00       \$7,235.00         30       12" GATE VALVE       EA       3       \$2,345.00       \$7,035.00       \$2,000.00       \$6,000.00       \$2,900.00       \$8,700.00       \$1,815.00       \$5,445.00				7	\$756.00	\$5,292.00	\$1,000.00	\$7,000.00	\$1,392.00	\$9,744.00	\$738.00	\$5,166.00
29       10" GATE VALVE       EA       5       \$1,760.00       \$8,800.00       \$1,750.00       \$8,750.00       \$2,337.50       \$11,687.50       \$1,447.00       \$7,235.00         30       12" GATE VALVE       EA       3       \$2,345.00       \$7,035.00       \$2,000.00       \$6,000.00       \$2,900.00       \$8,700.00       \$1,815.00       \$5,445.00	28	8" GATE VALVE	EA	4	\$1,245.00	\$4,980.00	\$1,400.00	\$5,600.00	\$1,828.00	\$7,312.00	\$995.00	\$3,980.00
30 12" GATE VALVE EA 3 \$2,345.00 \$7,035.00 \$2,000.00 \$6,000.00 \$2,900.00 \$8,700.00 \$1,815.00 \$5,445.00	29	10" GATE VALVE	EA	5	\$1,760.00	\$8,800.00	\$1,750.00	\$8,750.00	\$2,337.50	\$11,687.50	\$1,447.00	
	30	12" GATE VALVE	EA	3								
	31	16" BUTTERFLY VALVE	EA					\$41,800.00		\$52,800.00	\$3,139.00	\$34,529.00

				MOLEODI	ND CEDVICES		AND JORDAN,	OT A TEXT IV CO	ONTRA CTORS	ombere o	ASSOCIATES, INC.
					AND SERVICES		NC.		ONTRACTORS		
					TH ST CT E		OX 2295		BRD ST E		DUSTRIAL CT.
					ΓA, FL 34243		LLS, FL 33539		ON, FL 34203		ETTA, GA 30004
<del></del>			·	941-9	22-1861	813-7	/83-1132	941-7	56-4700	77	0-475-8199
	B50001071011		ر م		EXTENDED		EXTENDED	 	EXTENDED	LIAUT DDIOE	EXTENDED DDIOE
NO.	DESCRIPTION	U/M		UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	- · · · · · · · · · · · · · · · · · · ·
11	MOBILIZATION	LS	1	\$48,810.71	\$48,810.71	\$63,249.14	\$63,249.14	\$34,105.00	\$34,105.00	\$75,000.00	\$75,000.00
_			١.								
2	MISCELLANEOUS WORK AND CLEAN-UP	LS	1	\$28,595.00	\$28,595.00	<del></del>			\$3,000.00	\$50,000.00	
3	3" DUCTILE IRON PIPE WATER MAIN	LF	95	\$24.74	\$2,350.30				\$1,900.00		\$6,840.00
4	6" DUCTILE IRON PIPE WATER MAIN	LF	223	\$20.78	\$4,633.94	\$27.08		<del></del>	\$4,683.00		
5	8" DUCTILE IRON PIPE WATER MAIN	LF	605	\$21.90	\$13,249.50	\$28,99			\$18,755.00	\$62.00	\$37,510.00
6	10" DUCTILE IRON PIPE WATER MAIN	LF	479	\$27.36	\$13,105.44	\$35.49		<del></del>	\$12,933.00		
7	12" DUCTILE IRON PIPE WATER MAIN	LF	105	\$46.47	\$4,879.35			<del> </del>	\$3,465.00		\$10,185.00
8	16" DUCTILE IRON PIPE WATER MAIN	LF	5,146	\$55.94	\$287,867.24	\$73.13	\$376,326.98	\$44.50	\$228,997.00	\$147.00	\$756,462.00
	16" DIP SUPPLIED BY MANATEE COUNTY										
_	(ADDENDUM #2) PROVIDE INSTALLATION										
<u>8a</u>	COST ONLY	LF	220	\$11.01	\$2,422.20			+ +	\$3,740.00	<del></del>	\$22,000.00
9	DUCTILE IRON FITTINGS, WATER	TON	12.50	\$4,585.17	\$57,314.63	<del>                                     </del>		<del>                                     </del>	\$58,000.00		\$75,000.00
10	4" JOINT RESTRAINTS	<u>EA</u>	2	\$50.69	\$101.38			<del> </del>	\$150.00		\$200.00
11	6" JOINT RESTRAINTS	EA	36	\$57.98	\$2,087.28	+			\$3,708.00		\$10,800.00
12	8" JOINT RESTRAINTS	EA	55	\$79.35	\$4,364.25	<del></del>		<del> </del>	\$5,885.00		\$19,250.00
13	10" JOINT RESTRAINTS	EA	87	\$121.79	\$10,595.73				\$11,310.00		\$34,800.00
14	12" JOINT RESTRAINTS	EA	45	\$131.14	\$5,901.30			<del>                                     </del>	\$7,785.00		\$20,700.00
15	16" JOINT RESTRAINTS	EA	171	\$252.94	\$43,252.74	<del></del>	<del>                                     </del>	<del> </del>	\$42,237.00	<del> </del>	\$97,470.00
16	THRUST BLOCKS	CY	7	\$221.94	\$1,553.58	\$330.05	\$2,310.35	\$350.00	\$2,450.00	\$250.00	\$1,750.00
	16" JACK AND BORE CROSSING @ 7'		١								
17	DEPTH	LF	46	\$367.07	\$16,885.22	\$495.06	\$22,772.76	\$383.00	\$17,618.00	\$400.00	\$18,400.00
	24" JACK AND BORE CROSSING @ 8'							1			
18	DEPTH CONTROL OF ASSESSED OF A	LF	30	\$563.81	\$16,914.30	\$765.12	\$22,953.60	\$639.00	\$19,170.00	\$580.00	\$17,400.00
	24" JACK AND BORE CROSSING @ 12'										
19	DEPTH CONTROL OF ANY	LF	30	\$563.81	\$16,914.30	\$765.12	\$22,953.60	\$658.00	\$19,740.00	\$600.00	\$18,000.00
	30" JACK AND BORE CROSSING @ 10'										
20	DEPTH DODE OF COLUMN COLUMN	LF	32	\$399.46	\$12,782.7 <u>2</u>	\$571.28	\$18,280.96	\$726.00	\$23,232.00	\$400.00	\$12,800.00
	30" JACK AND BORE CROSSING @ 11'										
21	DEPTH CONTROL OF A A A A A A A A A A A A A A A A A A	LF	102	\$391.01	\$39,883.02	\$541.79	\$55,262.58	\$418.00	\$42,636.00	\$410.00	\$41,820.00
	30" JACK AND BORE CROSSING @ 11'		100								
22	DEPTH	LF	130	\$386.97	\$50,306.10	\$539.16	\$70,090.80	\$411.00	\$53,430.00	\$420.00	\$54,600.00
	30" JACK AND BORE CROSSING @ 13'		400						****		
23	DEPTH	LF	100_	\$390.55	\$39,055.00			<del></del>	\$44,200.00		\$43,000.00
24	12" X 10" TAPPING SLEEVE/VALVE	EA	3	\$3,986.03	\$11,958.09				\$14,190.00		\$15,000.00
25	12" X 6" TAPPING SLEEVE/VALVE	EA	3	\$2,304.25	\$6,912.75		· · · · · · · · · · · · · · · · · · ·		\$10,389.00		\$10,500.00
26	2" GATE VALVE	EA EA	7	\$334.72	\$334.72				\$542.00		\$750.00
27	6" GATE VALVE 8" GATE VALVE		4	\$633.08	\$4,431.56				\$5,229.00 \$4,836.00		\$7,000.00
28		EA	<del></del>	\$913.79	\$3,655.16			7	\$4,836.00		
29	10" GATE VALVE	EA	5	\$1,443.09	\$7,215.45				\$8,475.00		
30	12" GATE VALVE	EA	3	\$1,674.22	\$5,022.66	+		<del>                                     </del>	\$6,276.00	-	\$9,300.00
31	16" BUTTERFLY VALVE	EA	11	\$2,970.12	\$32,671.32	\$3,802.17	\$41,823.87	\$3,567.00	\$39,237.00	\$5,000.00	\$55,000.00

				WESTRA	CONSTRUCTION		
					CORP.	WOODRU	FF & SONS, INC.
				P.O	BOX 1149	P.O.	BOX 10127
				PALME	TTO, FL 34220	BRADENT	ON, FL 34282-0127
					1-123-1611	-	1-756-1871
			<u>                                     </u>			UNIT	EXTENDED
NO.	DESCRIPTION	U/M	QTY	UNIT PRICE	EXTENDED PRICE		PRICE
1 1	MOBILIZATION	LS	1	\$74,650.00	\$74,650.00		\$108,734.15
			<del> </del>	414,000.00	\$74,000.00	ψ100,104.10	Ψ100,704.10
2  N	MISCELLANEOUS WORK AND CLEAN-UP	LS	1	\$34,250.00	\$34,250.00	\$79,482.26	\$79,482.26
	3" DUCTILE IRON PIPE WATER MAIN	LF	95	\$46.45	\$4,412.75	\$36.44	\$3,461.80
	5" DUCTILE IRON PIPE WATER MAIN	LF	223	\$33.40			\$6,801.50
	B" DUCTILE IRON PIPE WATER MAIN	LF	605	\$39.90			\$19,729.05
	10" DUCTILE IRON PIPE WATER MAIN	LF	479	\$49.45	\$23,686.55	\$37.55	\$17,986.45
	12" DUCTILE IRON PIPE WATER MAIN	LF	105	\$93.00		\$42.56	\$4,468.80
8 1	16" DUCTILE IRON PIPE WATER MAIN	LF	5,146	\$77.65	\$399,586.90	\$58.69	\$302,018.74
	16" DIP SUPPLIED BY MANATEE COUNTY						,,. i
1 10	ADDENDUM #2) PROVIDE INSTALLATION						
8a 0	COST ONLY	LF	220	\$24.45	\$5,379.00	\$16.11	\$3,544.20
9 [	DUCTILE IRON FITTINGS, WATER	TON	12.50	\$3,759.00	\$46,987.50	\$4,409.59	\$55,119.88
	4" JOINT RESTRAINTS	EA	2	\$60.15	\$120.30	\$245.52	\$491.04
11 6	5" JOINT RESTRAINTS	EA	36	\$72.95	\$2,626.20	\$166.37	\$5,989.32
12 8	B" JOINT RESTRAINTS	EA	55	\$81.95	\$4,507.25	\$194.62	\$10,704.10
13 1	10" JOINT RESTRAINTS	EA	87	\$130.00	\$11,310.00	\$245.67	\$21,373.29
	12" JOINT RESTRAINTS	EA	45	\$132.00	\$5,940.00	\$293.34	\$13,200.30
15 1	16" JOINT RESTRAINTS	EA	171	\$251.00	\$42,921.00	\$428.08	\$73,201.68
16 T	THRUST BLOCKS	CY	7	\$266.00	\$1,862.00	\$383.92	\$2,687.44
1	16" JACK AND BORE CROSSING @ 7'			-			
17 🗀	DEPTH	LF	46	\$438.00	\$20,148.00	\$619.11	\$28,479.06
2	24" JACK AND BORE CROSSING @ 8'						
18 🖸	DEPTH	LF	30	\$733.55	\$22,006.50	\$936.07	\$28,082.10
2	24" JACK AND BORE CROSSING @ 12'						
19 🛭	DEPTH	LF	30	\$745.00	\$22,350.00	\$998.64	\$29,959.20
3	30" JACK AND BORE CROSSING @ 10'						
	DEPTH	LF	32	\$827.00	\$26,464.00	\$969.74	\$31,031.68
3	30" JACK AND BORE CROSSING @ 11'						
	DEPTH	LF	102	\$490.00	\$49,980.00	\$402.07	\$41,011.14
3	30" JACK AND BORE CROSSING @ 11'						
	DEPTH	LF	130	\$487.00	\$63,310.00	\$395.10	\$51,363.00
	30" JACK AND BORE CROSSING @ 13'						
	DEPTH	LF	100	\$495.00	\$49,500.00	\$371.21	\$37,121.00
	2" X 10" TAPPING SLEEVE/VALVE	EA	3	\$5,050.00	\$15,150.00	\$4,817.78	\$14,453.34
	2" X 6" TAPPING SLEEVE/VALVE	EA	3	\$3,118.00	\$9,354.00	\$3,225.57	\$9,676.71
	P. GATE VALVE	EA	1	\$675.00	\$675.00	\$785.04	\$785.04
	" GATE VALVE	EA	7	\$875.00	\$6,125.00	\$1,105.74	\$7,740.18
	B" GATE VALVE	EA	4	\$1,298.00	\$5,192.00	\$1,399.83	\$5,599.32
	0" GATE VALVE	EA	5	\$1,812.00	\$9,060.00	\$2,001.57	\$10,007.85
	2" GATE VALVE	EA	3	\$3,212.00	\$9,636.00	\$2,451.56	\$7,354.68
31 1	6" BUTTERFLY VALVE	EA	11	\$3,300.00	\$36,300.00	\$3,895.16	\$42,846.76

					GROUND INC.		BASILE SONS, INC. SW US 17		BUILDERS, INC. 3RD ST. E.	1	K DERR & CO, NC. KANGE AVE.
					KS 66214		OIA, FL 34266		TA, FL 34243		FA, FL 34234
				913-4	38-2981		-993-2588		758-1933	941-3	355-8575
	DECORIDATION		0.77		EXTENDED	UNIT	EXTENDED	UNIT	EXTENDED	<u> </u>	EXTENDED
NO.	DESCRIPTION	U/M	QTY	UNIT PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	UNIT PRICE	PRICE
	HYDRANT ASSEMBLY	EA	3	\$5,300.00	\$15,900.00		\$15,509.49	\$6,600.00	\$19,800.00	\$5,065.00	\$15,195.00
	HYDRANT BLOW-OFF ASSEMBLY	EA	1	\$9,950.00	\$9,950.00	\$5,832.37	\$5,832.37	\$5,800.00	\$5,800.00	\$5,720.00	\$5,720.00
34	10" FIRE LINE BACK-FLOW PREVENTER	EA	2	\$14,000.00	\$28,000.00	\$14,330.37	\$28,660.74	\$23,500.00	\$47,000.00	\$14,470.00	\$28,940.00
	16" MASTER METER ASSEMBLY WITH										1
	PVR (Supplied by Manatee County)										
	(ADDENDUM #1) (ADDENDUM #2) provide										
35	installation cost only	EA	1	\$6,800.00	\$6,800.00	\$3,386.47	\$3,386.47	\$18,000.00	\$18,000.00	\$2,220.00	\$2,220.00
	ABOVE GROUND AIR RELEASE							·			
36	ASSEMBLY	EA	5	\$2,700.00	\$13,500.00	\$2,578.04	\$12,890.20	\$3,000.00	\$15,000.00	\$3,370.00	\$16,850.00
37	BELOW GRADE AIR RELEASE ASSEMBLY	EΑ	1	\$2,000.00	\$2,000.00	\$5,780.62	\$5,780.62	\$4,600.00	\$4,600.00	\$6,240.00	\$6,240.00
38	WATER SERVICE	EA	2	\$5,000.00	\$10,000.00	\$928.66	\$1,857.32	\$1,500.00	\$3,000.00	\$1,000.00	\$2,000.00
	WATER SERVICES/METER										
39	RECONNECTIONS	EA	2	\$2,000.00	\$4,000.00	\$1,488.95	\$2,977.90	\$2,100.00	\$4,200.00	\$2,050.00	\$4,100.00
40	HYDRANT RELOCATION	EA	1	\$4,000.00	\$4,000.00	\$1,216.39	\$1,216.39	\$1,750.00	\$1,750.00	\$1,040.00	\$1,040.00
	SODDING (ASSUMING 6' WIDE TRENCH)				·						
41	(ADDENDUM #1)	SY	3,364	\$1.65	\$5,550.60	\$1.81	\$6,088.84	\$6.50	\$21,866.00	\$1.75	\$5,887.00
	PAVEMENT REPAIR AND ROAD										
	RESTORATION (ASSUMING 6' WIDE										
42	TRENCH)	SY	1,137	\$31.00	\$35,247.00	\$32.15	\$36,554.55	\$135.00	\$153,495.00	\$65.80	\$74,814.60
43	MISCELLANEOUS CONCRETE	CY	4	\$970.00	\$3,880.00	\$547.44	\$2,189.76	\$215.00	\$860.00	\$485.00	\$1,940.00
44	CONCRETE CURB	LF	10	\$23.00	\$230.00	\$31.97	\$319.70	\$45.00	\$450.00	\$75.00	\$750.00
	DRIVEWAY RESTORATION (ASSUMING 6'										_
45	WIDE TRENCH)	SY	113	\$41.00	\$4,633.00	\$29.73	\$3,359.49	\$105.00	\$11,865.00	\$50.65	\$5,723.45
	IN-PLACE GROUTING OF EXISTING 6"						·				
46	PIPE	LF	2,298	\$3.00	\$6,894.00	\$2.82	\$6,480.36	\$16.00	\$36,768.00	\$4.00	\$9,192.00
	IN-PLACE GROUTING OF EXISTING 8"										
47	PIPE	LF	1,024	\$4.00	\$4,096.00	\$4.80	\$4,915.20	\$20.00	\$20,480.00	\$4.50	\$4,608.00

				E.T. MA	CKENZIE OF	DAVE	FOOTE	IF.	ORSBERG	GIGLIOTTI	CONTRACTING
					RIDA, INC.		NMENTAL		RUCTION, INC.		TH, LLC
					B3RD ST E		BRIAR FARMS		F COURSE BLVD		DY HILLS RD
					TON, FL 34203		RS, FL 33905		GORDA, FL 33982		ILL, FL 34610
					756-6760		69-6146		11-637-8500	<del></del>	665-7867
				UNIT	EXTENDED	100	EXTENDED	UNIT	EXTENDED	(803)	EXTENDED
NO.	DESCRIPTION	U/M	QTY	PRICE	PRICE	UNIT PRICE	PRICE	PRICE	PRICE	UNIT PRICE	PRICE
32	HYDRANT ASSEMBLY	EA	3	NO BID	NO BID	\$4,357.00	\$13,071.00	NO BID	NO BID		\$10,061,67
33	HYDRANT BLOW-OFF ASSEMBLY	EA	1	NO BID	NO BID		\$5,663.00	NO BID	NO BID	7-1	\$3,875,45
34	10" FIRE LINE BACK-FLOW PREVENTER	EA	2	NO BID	NO BID		\$31,320.00	NO BID	NO BID	\$14,997.37	\$29,994.74
	16" MASTER METER ASSEMBLY WITH										
	PVR (Supplied by Manatee County)										
	(ADDENDUM #1) (ADDENDUM #2) provide										
35	installation cost only	EA	1	NO BID	NO BID	\$2,975.00	\$2,975.00	NO BID	NO BID	\$5,600,00	\$5,600,00
	ABOVE GROUND AIR RELEASE					. , .	· · · · · · · · · · · · · · · · · · ·			72,000.00	********
36	ASSEMBLY	EA	5	NO BID	NO BID	\$3,584.00	\$17,920,00	NO BID	NO BID	\$3,348.12	\$16,740.60
						. ,				4-1	
	BELOW GRADE AIR RELEASE ASSEMBLY	EA	1	NO BID	NO BID	\$5,242.00	\$5,242.00	NO BID	NO BID	\$4,208.80	\$4,208.80
38	WATER SERVICE	EA	2	NO BID	NO BID	\$1,629.00	\$3,258.00	NO BID	NO BID	\$662.48	\$1,324.96
	WATER SERVICES/METER										
	RECONNECTIONS	EA	2	NO BID	NO BID	\$3,892.00	\$7,784.00	NO BID	NO BID	\$2,652.65	\$5,305.30
	HYDRANT RELOCATION	EA	1	NO BID	NO BID	\$2,160.00	\$2,160.00	NO BID	NO BID	\$2,100.00	\$2,100.00
1	SODDING (ASSUMING 6' WIDE TRENCH)										
	(ADDENDUM #1)	SY	3,364	NO BID	NO BID	\$2.00	\$6,728.00	NO BID	NO BID	\$2.00	\$6,728.00
	PAVEMENT REPAIR AND ROAD										
	RESTORATION (ASSUMING 6' WIDE										
	TRENCH)	SY	1,137	NO BID	NO BID	\$35.00	\$39,795.00	NO BID	NO BID	\$61.30	\$69,698.10
	MISCELLANEOUS CONCRETE	CY	4	NO BID	NO BID	\$314.00	\$1,256.00	NO BID	NO BID	\$450.00	\$1,800.00
	CONCRETE CURB	LF	10	NO BID	NO BID	\$284.00	\$2,840.00	NO BID	NO BID	\$38.00	\$380.00
	DRIVEWAY RESTORATION (ASSUMING 6'										
	WIDE TRENCH)	SY	113	NO BID	NO BID	\$36.00	\$4,068.00	NO BID	NO BID	\$61.30	\$6,926.90
l	IN-PLACE GROUTING OF EXISTING 6"										
	PIPE	LF	2,298	NO BID	NO BID	\$3.00	\$6,894.00	NO BID	NO BID	\$3.50	\$8,043.00
l	IN-PLACE GROUTING OF EXISTING 8"										
47	PIPE	LF	1,024	NO BID	NO BID	\$4.00	\$4,096.00	NO BID	NO BID	\$4.60	\$4,710.40

					ONTRACTING		AST UTILITY				HAUSEN
					CES, INC.		UCTORS, INC.		NKINS, INC.		JCTION, INC.
				POB	OX 630	1363 2	2ND ST N	14512 N. NE	BRASKA AVE.	PO B	OX 21087
				PLACIDA	, FL 33946	ST. PETERS	BURG, FL 33713	TAMPA	, FL 33613	SARASOTA	, FL 34276-4087
	<u></u>			941-69	97-2047	727-	328-7882	813-9	77-7270	941-	379-6603
		_			EXTENDED	UNIT	EXTENDED		EXTENDED	UNIT	EXTENDED
NO.	DESCRIPTION	U/M	QTY	UNIT PRICE	PRICE	PRICE	PRICE	UNIT PRICE	PRICE	PRICE	PRICE
32	HYDRANT ASSEMBLY	EA	3	\$6,345.00	\$19,035.00	\$4,000.00	\$12,000.00	\$5,808.00	\$17,424.00	\$5,365.00	\$16,095.00
33	HYDRANT BLOW-OFF ASSEMBLY	EΑ	1	\$8,567.00	\$8,567.00	\$7,800.00	\$7,800.00	\$8,600.00	\$8,600.00	\$7,989.00	\$7,989.00
34	10" FIRE LINE BACK-FLOW PREVENTER	EA	2	\$13,450.00	\$26,900.00	\$17,500.00	\$35,000.00	\$11,500.00	\$23,000.00	\$12,076.00	\$24,152.00
	16" MASTER METER ASSEMBLY WITH										
	PVR (Supplied by Manatee County)										
	(ADDENDUM #1) (ADDENDUM #2) provide										
35	installation cost only	EA	1	\$6,455.00	\$6,455.00	\$15,000.00	\$15,000.00	\$2,500.00	\$2,500.00	\$7,800.00	\$7,800.00
	ABOVE GROUND AIR RELEASE										\$1,000.00
36	ASSEMBLY	EA	5	\$2,975.00	\$14,875.00	\$3,500.00	\$17,500.00	\$12,000.00	\$60,000.00	\$2,902.00	\$14,510.00
							· · · · · · · · · · · · · · · · · · ·		7.2.1	<u> </u>	<u> </u>
	BELOW GRADE AIR RELEASE ASSEMBLY	EA	1	\$1,630.00	\$1,630.00	\$3,500.00	\$3,500.00	\$1,800.00	\$1,800.00	\$4,086.00	\$4,086.00
38	WATER SERVICE	EA	2	\$2,670.00	\$5,340.00	\$4,500.00	\$9,000.00	\$4,500.00	\$9,000.00	\$4,325.00	\$8,650.00
	WATER SERVICES/METER		1								
	RECONNECTIONS	EA	2	\$2,980.00	\$5,960.00	\$2,500.00	\$5,000.00	\$900.00	\$1,800.00	\$2,000.00	\$4,000.00
40	HYDRANT RELOCATION	EA	1	\$2,678.00	\$2,678.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,121.00	\$2,121.00
	SODDING (ASSUMING 6' WIDE TRENCH)										
41	(ADDENDUM #1)	SY	3,364	\$2.60	\$8,746.40	\$3.25	\$10,933.00	\$3.00	\$10,092.00	\$1.90	\$6,391.60
	PAVEMENT REPAIR AND ROAD										
	RESTORATION (ASSUMING 6' WIDE										
42	TRENCH)	SY	1,137	\$19.00	\$21,603.00	\$35.50	\$40,363.50	\$46.00	\$52,302.00	\$31.00	\$35,247.00
43	MISCELLANEOUS CONCRETE	CY	4	\$645.00	\$2,580.00	\$500.00	\$2,000.00	\$325.00	\$1,300.00	\$416.00	\$1,664.00
44	CONCRETE CURB	LF	10	\$280.00	\$2,800.00	\$150.00	\$1,500.00	\$35.00	\$350.00	\$26.00	\$260.00
	DRIVEWAY RESTORATION (ASSUMING 6'										
45	WIDE TRENCH)	SY	113	\$290.00	\$32,770.00	\$25.00	\$2,825.00	\$46.00	\$5,198.00	\$31.00	\$3,503.00
	IN-PLACE GROUTING OF EXISTING 6"										
46	PIPE	LF	2,298	\$10.59	\$24,335.82	\$5.00	\$11,490.00	\$2.50	\$5,745.00	\$7.00	\$16,086.00
	IN-PLACE GROUTING OF EXISTING 8"										
47	PIPE	LF	1,024	\$12.85	\$13,158.40	\$5.00	\$5,120.00	\$3.00	\$3,072.00	\$7.00	\$7,168.00

				1							
						B	AND JORDAN,				
					ND SERVICES		NC.		ONTRACTORS		ASSOCIATES, INC.
				7405 281	H ST CT E	PO B	OX 2295	6028 33	BRD ST E	7561 IN	DUSTRIAL CT.
				SARASO	TA, FL 34243	ZEPHYRHI	LLS, FL 33539	BRADENT	ON, FL 34203	ALPHAR	RETTA, GA 30004
				941-9	22-1861	813-7	/83-1132	941-7	56-4700	77	0-475-8199
					EXTENDED		EXTENDED		EXTENDED		
NO.	DESCRIPTION	U/M	QTY	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	EXTENDED PRICE
32	HYDRANT ASSEMBLY	EA	3	\$4,446.39	\$13,339.17	\$1,783.02	\$5,349.06	\$4,785.00	\$14,355.00	\$6,000.00	\$18,000.00
33	HYDRANT BLOW-OFF ASSEMBLY	EA	1	\$4,513.93	\$4,513.93	\$7,416.25	\$7,416.25		\$5,300.00		· · · · · · · · · · · · · · · · · · ·
34	10" FIRE LINE BACK-FLOW PREVENTER	EA	2	\$13,130.25	\$26,260.50	\$20,052.03	\$40,104.06	\$12,767.00	\$25,534.00		
	16" MASTER METER ASSEMBLY WITH						·				, , , , , , , , , , , , , , , , , , , ,
	PVR (Supplied by Manatee County)										
	(ADDENDUM #1) (ADDENDUM #2) provide										
35	installation cost only	EA	1 1	\$3,053.51	\$3,053,51	\$9,545,97	\$9.545.97	\$13,200.00	\$13,200.00	\$5,000.00	\$5,000.00
	ABOVE GROUND AIR RELEASE										4-1-131-1
36	ASSEMBLY	EA	5	\$2,049.50	\$10,247.50	\$3,581.90	\$17,909.50	\$2,700.00	\$13,500.00	\$3,000.00	\$15,000.00
									, ,		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
	BELOW GRADE AIR RELEASE ASSEMBLY	EA	1	\$2,756.09	\$2,756.09	\$4,739.17	\$4,739.17	\$3,330.00	\$3,330.00	\$750.00	\$750.00
	WATER SERVICE	EA	2	\$727.79	\$1,455.58	\$1,097.50	\$2,195.00	\$2,300.00	\$4,600.00	\$2,700.00	\$5,400.00
1	WATER SERVICES/METER										
	RECONNECTIONS	EA	2	\$1,023.66	\$2,047.32	\$1,466.77	\$2,933.54	\$1,700.00	\$3,400.00	\$1,800.00	\$3,600.00
	HYDRANT RELOCATION	EA	1	\$1,154.71	\$1,154.71	\$1,281.53	\$1,281.53	\$1,500.00	\$1,500.00	\$1,200.00	\$1,200.00
	SODDING (ASSUMING 6' WIDE TRENCH)							-			
	(ADDENDUM #1)	SY	3,364	\$1.85	\$6,223.40	\$2.52	\$8,477.28	\$2.50	\$8,410.00	\$2.00	\$6,728.00
	PAVEMENT REPAIR AND ROAD										
	RESTORATION (ASSUMING 6' WIDE		i								
	TRENCH)	SY	1,137	\$25.59	\$29,095.83	\$43.21	\$49,129.77	\$27.00	\$30,699.00	\$70.00	\$79,590.00
	MISCELLANEOUS CONCRETE	CY	4	\$199.97	\$799.88	\$330.05	\$1,320.20	\$330.00	\$1,320.00	\$250.00	\$1,000.00
	CONCRETE CURB	LF	10	\$35.00	\$350,00	\$67.70	\$677.00	\$33.00	\$330.00	\$50.00	\$500.00
	DRIVEWAY RESTORATION (ASSUMING 6'										
	WIDE TRENCH)	SY	113	\$32.00	\$3,616.00	\$32.91	\$3,718.83	\$37.00	\$4,181.00	\$65.00	\$7,345.00
	IN-PLACE GROUTING OF EXISTING 6"										
	PIPE IN-PLACE GROUTING OF EXISTING 8"	LF	2,298	\$1.81	\$4,159.38	\$2.35	\$5,400.30	\$7.00	\$16,086.00	\$2.00	\$4,596.00
	IN-PLACE GROUTING OF EXISTING 8"										
47	rirc	LF	1,024	\$2.31	\$2,365.44	\$4.04	\$4,136.96	\$7.50	\$7,680.00	\$2.50	\$2,560.00

				WESTRA (	CONSTRUCTION		
					CORP.	WOODRU	FF & SONS, INC.
				P.O	BOX 1149	P.O.	BOX 10127
				PALME	TTO, FL 34220	BRADENTO	ON, FL 34282-0127
				941	1-123-1611	941	-756-1871
						UNIT	EXTENDED
NO.	DESCRIPTION	U/M	QTY	UNIT PRICE	EXTENDED PRICE	PRICE	PRICE
32	HYDRANT ASSEMBLY	EA	3	\$4,784.00	\$14,352.00	\$4,588.76	\$13,766.28
33	HYDRANT BLOW-OFF ASSEMBLY	EA	1	\$6,939.00	\$6,939.00	\$7,739.80	\$7,739.80
34	10" FIRE LINE BACK-FLOW PREVENTER	EA	2	\$14,300.00	\$28,600.00	\$11,716.81	\$23,433.62
	16" MASTER METER ASSEMBLY WITH						
	PVR (Supplied by Manatee County)						
	(ADDENDUM #1) (ADDENDUM #2) provide						
35	installation cost only	EΑ	1	\$2,152.00	\$2,152.00	\$2,917.29	\$2,917.29
	ABOVE GROUND AIR RELEASE						
36	ASSEMBLY	EA	5	\$2,695.00	\$13,475.00	\$3,004.03	\$15,020.15
37	BELOW GRADE AIR RELEASE ASSEMBLY	EA	1	\$3,995.00	\$3,995.00	\$4,261.88	\$4,261.88
38	WATER SERVICE	EA	2	\$1,195.00	\$2,390.00	\$2,068.94	\$4,137.88
	WATER SERVICES/METER						
39	RECONNECTIONS	EA	2	\$1,200.00	\$2,400.00	\$1,475.99	\$2,951.98
40	HYDRANT RELOCATION	EA	11	\$3,069.00	\$3,069.00	\$1,204.38	\$1,204.38
	SODDING (ASSUMING 6' WIDE TRENCH)						
41	(ADDENDUM #1)	SY	3,364	\$2.35	\$7,905.40	\$3.41	\$11,471.24
	PAVEMENT REPAIR AND ROAD						
	RESTORATION (ASSUMING 6' WIDE						
42	TRENCH)	SY	1,137	\$25.65		\$28.59	\$32,506.83
43	MISCELLANEOUS CONCRETE	CY	4	\$186.00	\$744.00	\$448.72	\$1,794.88
44	CONCRETE CURB	LF	10	\$48.15	\$481.50	\$50.32	\$503.20
	DRIVEWAY RESTORATION (ASSUMING 6'						
45	WIDE TRENCH)	SY	113	\$49.50	\$5,593.50	\$157.06	\$17,747.78
	IN-PLACE GROUTING OF EXISTING 6"		1		-		
46	PIPE	LF	2,298	\$2.90	\$6,664.20	\$2.46	\$5,653.08
47	IN-PLACE GROUTING OF EXISTING 8" PIPE		4 024				00.400.40
47	FIFE	LF	1,024	\$4.15	\$4,249.60	\$3.34	\$3,420.16

					GROUND INC.		BASILE SONS, INC. SW US 17		BUILDERS, INC.		K DERR & CO, NC. NANGE AVE.
					KS 66214		IA, FL 34266		TA, FL 34243		ΓA, FL 34234
					38-2981		-993-2588		758-1933		355-8575
ſ .					EXTENDED	UNIT	EXTENDED	UNIT	EXTENDED		EXTENDED
NO.	DESCRIPTION	U/M	QTY	UNIT PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	UNIT PRICE	PRICE
	IN-PLACE GROUTING OF EXISTING 10"		T							*	
	PIPE	LF	64	\$17.00	\$1,088.00	\$9.99	\$639.36	\$25.00	\$1,600.00	\$7.50	\$480.00
	IN-PLACE GROUTING OF EXISTING 12"										
	PIPE	LF	6,846	\$6.00	\$41,076.00	\$5.13	\$35,119.98	\$30.00	\$205,380.00	\$14.40	\$98,582.40
il .	IN-PLACE GROUTING OF EXISTING 14"	LF	3,584	40.00	000 070 00	25.00	000 440 00	***	0105 110 00	242.42	****
30_	IMPACTED SOILS	LF	3,364	\$8.00	\$28,672.00	\$5.62	\$20,142.08	\$35.00	\$125,440.00	\$18.40	\$65,945.60
	REMOVAL/REPLACEMENT (ADDENDUM										
51	#1)	CY	673	\$67.00	\$45,091.00	\$60,01	\$40,386.73	\$160,00	\$107,680.00	\$70.95	\$47,749.35
	GROUND WATER			7-111-		7-1-1-1	* (*)	***************************************		<b>V</b> . 5.55	<del></del>
52	TREATMENT/DEWATERING	LS	1	\$119,000.00	\$119,000.00	\$24,397.83	\$24,397.83	\$88,000.00	\$88,000.00	\$21,650.00	\$21,650.00
53	DISCRETIONARY	LS	1		\$200,000.00		\$200,000.00		\$200,000.00		\$200,000.00
	TOTAL BID PRICE:				• • • • • • • • • • • • • • • • • • • •		** *** ***				
					\$1,544,232.60		\$1,358,356.82		\$2,809,257.00		\$1,678,292.35
	Acknowledge Site Visit				Yes		Yes		Yes		Yes
	Acknowledge Addendum 1				Yes		Yes		Yes		Yes
	Acknowledge Addendum 2				Yes		Yes		Yes		Yes
	Vendor subcontracting				Yes		Yes		Yes		Yes
	The Florida Trench Safety Act				Yes		Yes		Yes		Yes
	Contractor's Questionnaire				Yes		Yes		Yes		Yes
	Drug Free Work Place Certification				Yes		Yes		Yes		Yes
	Public Contracting & Environmental Crimes				Yes		Yes		Yes		Yes
	Affidavit as to Local Business-Supplied										
	Document with BID				No		Yes		Yes		Yes
	Bond Included				Yes		Yes		Yes		Yes

				E.T. MA	CKENZIE OF	DAVE	FOOTE	F	ORSBERG	GIGLIOTTI	CONTRACTING
					RIDA, INC.		NMENTAL		TRUCTION, INC.		TH, LLC
					33RD ST E		BRIAR FARMS	6475 GOI	LF COURSE BLVD	14525 SHA	DY HILLS RD
					TON, FL 34203		RS, FL 33905		GORDA, FL 33982		ILL, FL 34610
<u></u>			1	<u> </u>	756-6760	239-3	69-6146		41-637-8500	(863)	665-7867
NO.	DESCRIPTION	U/M	QTY	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
	IN-PLACE GROUTING OF EXISTING 10"										
48	PIPE	LF	64	NO BID	NO BID	\$15.00	\$960.00	NO BID	NO BID	\$6.10	\$390.40
	IN-PLACE GROUTING OF EXISTING 12"										
49	PIPE	LF	6,846	NO BID	NO BID	\$3.00	\$20,538.00	NO BID	NO BID	\$7.95	\$54,425.70
50	IN-PLACE GROUTING OF EXISTING 14"	LF	3,584	NO BID	NO BID	24.00	****	110 DID	NO 110		
30	IMPACTED SOILS	LF	3,304	NO BID	NO BID	\$4.00	\$14,336.00	NO BID	NO BID	\$10.15	\$36,377.60
	REMOVAL/REPLACEMENT (ADDENDUM										
51	#1)	CY	673	NO BID	NO BID	\$59.00	\$39,707.00	NO BID	NO BID	\$62.57	\$42,109.61
	GROUND WATER				<del></del>		71			402.01	4.2,100.07
52	TREATMENT/DEWATERING	LS	1	NO BID	NO BID	\$9,100.00	\$9,100.00	NO BID	NO BID	\$17,500.00	\$17,500.00
53	DISCRETIONARY	LS	1		NO BID		\$200,000.00		NO BID		\$200,000.00
	TOTAL BID PRICE:				NO BID		\$1,563,713.00		NO BID		64 705 600 00
											\$1,795,698.89
	Acknowledge Site Visit				Yes		Yes		Yes		Yes
	Acknowledge Addendum 1		ļ		Yes		Yes		Yes		Yes
	Acknowledge Addendum 2				Yes		Yes		Yes		Yes
	Vendor subcontracting				Yes		Yes		Yes		Yes
	The Florida Trench Safety Act				Yes		Yes		Yes		Yes
	Contractor's Questionnaire				Yes		Yes		Yes		Yes
	Drug Free Work Place Certification				Yes		Yes		Yes		Yes
	Public Contracting & Environmental Crimes				Yes		Yes		Yes		Yes
	Affidavit as to Local Business-Supplied						did not provide				did not provide
	Document with BID				Yes		document		Yes		document
	Bond Included				Yes		Yes		Yes		Yes

				GENERAL CONTRACTING		GULFCOAST UTILITY				KUXHAUSEN	
				_	CES, INC.		UCTORS, INC.	CARL HANKINS, INC.		CONSTRUCTION, INC	
					OX 630		22ND ST N	14512 N. NEBRASKA AVE.			OX 21087
				PLACIDA	A, FL 33946	ST. PETERS	BURG, FL 33713	TAMPA, FL 33613		SARASOTA, FL 34276-40	
				941-6	97-2047	727-328-7882		813-977-7270		941-379-6603	
					EXTENDED	UNIT	EXTENDED		EXTENDED	UNIT	EXTENDED
NO.	DESCRIPTION	U/M	QTY	UNIT PRICE	PRICE	PRICE	PRICE	UNIT PRICE	PRICE	PRICE	PRICE
10	IN-PLACE GROUTING OF EXISTING 10"	<del>  </del>	<del>  </del>								
48	PIPE  IN-PLACE GROUTING OF EXISTING 12"	LF	64	\$32.00	\$2,048.00	\$5.00	\$320.00	\$5.00	\$320.00	\$8.00	\$512.00
49	PIPE	LF	6,846	\$15.00	\$102,690.00	\$5.00	\$34,230.00	\$5.00	\$34,230.00	\$8.00	\$54,768.00
	IN-PLACE GROUTING OF EXISTING 14"		0,0,0	\$10.00	ψ102,030.00	\$5.50	Ψ04,230.00	\$5.00	\$34,230.00	\$8.00	\$54,768.00
50	PIPE	LF	3,584	\$18.00	\$64,512.00	\$5.00	\$17,920.00	\$6.00	\$21,504.00	\$10.00	\$35,840.00
	IMPACTED SOILS										
	REMOVAL/REPLACEMENT (ADDENDUM										
51	#1)	CY	673	\$44.00	\$29,612.00	\$75.00	\$50,475.00	\$58.50	\$39,370.50	\$20.00	\$13,460.00
52	GROUND WATER TREATMENT/DEWATERING	LS	_	********							
I———	DISCRETIONARY	LS	1	\$34,500.00	\$34,500.00				\$50,000.00	\$10,400.00	\$10,400.00
33	DISCRETIONARY	LO	] <b>!</b>		\$200,000.00		\$200,000.00		\$200,000.00		\$200,000.00
	TOTAL BID PRICE:				\$1,736,953.62		\$1,887,677.50		\$1,754,106.15		\$1,593,329.10
	Acknowledge Site Visit				Yes		Yes		Yes		Yes
	Acknowledge Addendum 1				Yes		Yes		Yes		Yes
	Acknowledge Addendum 2				Yes		Yes		Yes		Yes
	Vendor subcontracting				Yes		Yes		Yes		Yes
	The Florida Trench Safety Act				Yes		Yes		Yes		Yes
	Contractor's Questionnaire				Yes		Yes		Yes		Yes
	Drug Free Work Place Certification				Yes		Yes		Yes		Yes
	Public Contracting & Environmental Crimes				Yes		Yes		Yes		Yes
	Affidavit as to Local Business-Supplied Document with BID				did not provide document		did not provide document		Yes		did not provide document
	Bond Included				Yes		Yes		Yes		Yes

				MCLEOD LA	AND SERVICES	n	AND JORDAN, NC.	STATELY CONTRACTORS		STEELE &	ASSOCIATES, INC.
				7405 281	H ST CT E	PO B	OX 2295	6028 3	3RD ST E		DUSTRIAL CT.
				SARASO	ΓA, FL 34243	ZEPHYRHI	LLS, FL 33539	BRADENT	ON, FL 34203	ALPHAR	RETTA, GA 30004
<del></del>				941-9	22-1861	813-783-1132		941-756-4700		770-475-8199	
	DECORIDE				EXTENDED		EXTENDED		EXTENDED		
NO.	DESCRIPTION	U/M	QTY	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	EXTENDED PRICE
10	IN-PLACE GROUTING OF EXISTING 10"	<u> </u>									
48	PIPE IN-PLACE GROUTING OF EXISTING 12"	LF	<u>64</u>	\$6,56	\$419.84	\$7.46	\$477.44	\$8.00	\$512.00	\$5.00	\$320.00
49	PIPE	LF	6,846		040.750.04						
	IN-PLACE GROUTING OF EXISTING 14"	LF	0,040	\$2.74	\$18,758.04	\$9.30	\$63,667.80	\$9.00	\$61,614.00	\$5.00	\$34,230.00
50	PIPE	LF	3,584	\$4.22	\$15,124.48	\$12.52	\$44,871.68	\$10.25	\$36,736.00	\$7.00	\$25,088.00
	IMPACTED SOILS		,,,,,,	¥	<b>410,124.40</b>	<b>\$12.52</b>	Ψ++,07 1.00	\$10.23	\$30,730.00	\$7.00	\$25,088.00
	REMOVAL/REPLACEMENT (ADDENDUM										
51	#1)	CY	673	\$41.78	\$28,117.94	\$85.52	\$57,554.96	\$9.00	\$6,057.00	\$60.00	\$40,380.00
	GROUND WATER										¥ 10,000.00
52	TREATMENT/DEWATERING	LS	1	\$59,425.67	\$59,425.67	\$8,395.03	\$8,395.03	\$30,000.00	\$30,000.00	\$40,000.00	\$40,000.00
53	DISCRETIONARY	LS	1		\$200,000.00		\$200,000.00		\$200,000.00		\$200,000.00
	TOTAL BID PRICE:				\$1,229,311.15		\$1.605.969.04		<b>64 040 047 00</b>		
		<u> </u>							\$1,240,647.00		\$2,111,803.00
	Acknowledge Site Visit				Yes		Yes		Yes		Yes
	Acknowledge Addendum 1				Yes		Yes		Yes		Yes
	Acknowledge Addendum 2				Yes		Yes		Yes		Yes
	Vendor subcontracting				Yes		Yes		Yes		Yes
	The Florida Trench Safety Act				Yes		Yes		Yes		Yes
	Contractor's Questionnaire				Yes		Yes		Yes		Yes
	Drug Free Work Place Certification				Yes		Yes		Yes		Yes
	Public Contracting & Environmental Crimes			Yes			Yes		Yes		Yes
	Affidavit as to Local Business-Supplied Document with BID				Yes		Yes		Yes		Yes
	Bond Included				Yes		Yes		Yes		Yes

					CONSTRUCTION CORP.	WOODRUFF & SONS, INC.		
				P.O	BOX 1149		BOX 10127	
				PALME	TTO, FL 34220	BRADENTO	ON, FL 34282-0127	
		,		941	1-123-1611		-756-1871	
NO.	DESCRIPTION	U/M	QTY	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	
	IN-PLACE GROUTING OF EXISTING 10"							
	PIPE	LF	64	\$5.40	\$345.60	\$21.46	\$1,373.44	
l t	IN-PLACE GROUTING OF EXISTING 12" PIPE	LF	6,846	04.75	200 540 50		200 407 20	
	IN-PLACE GROUTING OF EXISTING 14"	LF	0,040	\$4.75	\$32,518.50	\$4.11	\$28,137.06	
	PIPE	LF	3,584	\$5.70	\$20,428.80	\$7.12	\$25,518.08	
II I	IMPACTED SOILS							
	REMOVAL/REPLACEMENT (ADDENDUM							
	#1)	CY	673	\$57.65	\$38,798.45	\$76.63	\$51,571.99	
1 1	GROUND WATER TREATMENT/DEWATERING	LS	1	\$6,391.00	#C 204 00	\$13,984.52	£42.004.50	
	DISCRETIONARY	LS	1	\$6,391.00	\$6,391.00 \$200,000.00	14888888888888888888888888888888888888	\$13,984.52 \$200,000.00	
					<del></del>		<b>\$250,000.00</b>	
	TOTAL BID PRICE:				\$1,475,499.25		\$1,543,620.58	
	Acknowledge Site Visit				Yes		Yes	
	Acknowledge Addendum 1				Yes		Yes	
	Acknowledge Addendum 2				Yes		Yes	
	Vendor subcontracting				Yes		Yes	
	The Florida Trench Safety Act				Yes		Yes	
	Contractor's Questionnaire				Yes		Yes	
	Drug Free Work Place Certification				Yes		Yes	
	Public Contracting & Environmental Crimes				Yes		Yes	
	Affidavit as to Local Business-Supplied Document with BID				Yes		Yes	
	Bond Included				Yes		Yes	

otes:	Base "B".
EYED BY:	Carl Hankins Inc. mathematical multiplication error—line # 31—unit price prevails see A.18
ATE:	8/5/09
HECKED	BY: Danna M Stoven
ATE:	8-7-09

						PETER A BASILE SONS,				EDEDEDIC	W DEDD 4 GO
				A&I IINDED	GROUND INC.	FEIERA	INC.	C&M BOAD	BUILDERS, INC.		K DERR & CO, INC.
					elrose Dr.	5140	SW US 17		3RD ST. E.	<del></del>	
					KS 66214						RANGE AVE.
					38-2981		OIA, FL 34266 -993-2588		TA, FL 34243		TA, FL 34234
				913-4	EXTENDED	UNIT			758-1933	941-	355-8575
NO.	DESCRIPTION	U/M	ОТУ	UNIT PRICE	PRICE	PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
1	MOBILIZATION	LS	1	\$41,000.00		\$27,622.08					
<u> </u>	MODICIES (TION	LO		\$41,000.00	\$41,000.00	\$21,022.06	\$27,622.08	\$240,000.00	\$240,000.00	\$34,275.00	\$34,275.00
2	MISCELLANEOUS WORK AND CLEAN-UP	LS	1	\$28,000.00	\$28,000.00	\$81,062.98	\$81,062.98	\$110,000.00	\$110,000.00	\$39,100.00	\$39,100.00
3	3" DUCTILE IRON PIPE WATER MAIN	LF	95	\$61.00	\$5,795.00	\$42.64	\$4,050.80	\$125.00	\$11,875.00	\$42.15	\$4,004.25
4	6" DUCTILE IRON PIPE WATER MAIN	LF	223	\$27.00	\$6,021.00	\$38.50	\$8,585.50	\$66.00	\$14,718.00	\$37.50	\$8,362.50
5	8" DUCTILE IRON PIPE WATER MAIN	LF	605	\$35.00	\$21,175.00	\$33.63	\$20,346.15	\$67.00	\$40,535.00	\$29.85	\$18,059.25
6	10" DUCTILE IRON PIPE WATER MAIN	LF	479	\$37.00	\$17,723.00	\$42.30	\$20,261.70	\$85.00	\$40,715.00	\$38.90	\$18,633.10
7	12" DUCTILE IRON PIPE WATER MAIN	LF	105	\$40.00	\$4,200.00	\$81.38	\$8,544.90	\$130.00	\$13,650.00	\$60.15	\$6,315.75
8	16" DUCTILE IRON PIPE WATER MAIN	LF	5,146	\$67.00	\$344,782.00	\$62.27	\$320,441.42	\$93.00	\$478,578.00	\$64.85	\$333,718.10
i	16" DIP SUPPLIED BY MANATEE COUNTY								-		
	(ADDENDUM #2) PROVIDE INSTALLATION										
8a	COST ONLY	LF	220	\$21.00	\$4,620.00	\$13.95	\$3,069.00	\$65.00	\$14,300.00	\$24.85	\$5,467.00
9	DUCTILE IRON FITTINGS, WATER	TON	12.50	\$5,600.00	\$70,000.00	\$3,095.05	\$38,688.13	\$12,000.00	\$150,000.00	\$5,200.00	\$65,000.00
10	4" JOINT RESTRAINTS	EA	2	\$67.00	\$134.00	\$40.53	\$81.06	\$65.00	\$130.00	\$80.00	\$160.00
11	6" JOINT RESTRAINTS	EA	36	\$170.00	\$6,120.00	\$46.14	\$1,661.04	\$77.00	\$2,772.00	\$90.00	\$3,240.00
12	8" JOINT RESTRAINTS	EA	55	\$210.00	\$11,550.00	\$70.28	\$3,865.40	\$105.00	\$5,775.00	\$130.00	\$7,150.00
13	10" JOINT RESTRAINTS	EA	87	\$250.00	\$21,750.00	\$116.83	\$10,164.21	\$170.00	\$14,790.00	\$195.00	\$16,965.00
14	12" JOINT RESTRAINTS	EA	45	\$320.00	\$14,400.00	\$127.17	\$5,722.65	\$225.00	\$10,125.00	\$215.00	\$9,675.00
15	16" JOINT RESTRAINTS	EA	171	\$440.00	\$75,240.00	\$261.42	\$44,702.82	\$375.00	\$64,125.00	\$380.00	\$64,980.00
16	THRUST BLOCKS	CY	7	\$305.00	\$2,135.00	\$386.30	\$2,704.10	\$215.00	\$1,505.00	\$255.00	\$1,785.00
47	16" JACK AND BORE CROSSING @ 7'										
17	DEPTH	LF	46	\$400.00	\$18,400.00	\$372.90	\$17,153.40	\$630.00	\$28,980.00	\$770.00	\$35,420.00
18	24" JACK AND BORE CROSSING @ 8'		00								
<del>  10</del>	24" JACK AND BORE CROSSING @ 12'	LF	30	\$615.00	\$18,450.00	\$447.47	\$13,424.10	\$1,000.00	\$30,000.00	\$1,140.00	\$34,200.00
19	DEPTH	LF								i	
	30" JACK AND BORE CROSSING @ 10'	LF	30	\$615.00	\$18,450.00	\$439.50	\$13,185.00	\$1,060.00	\$31,800.00	\$1,175.00	\$35,250.00
20	DEPTH	LF	32	0405.00	440.000.00						
20	30" JACK AND BORE CROSSING @ 11'	LF	32	\$435.00	\$13,920.00	\$500.62	\$16,019.84	\$1,225.00	\$39,200.00	\$995.00	\$31,840.00
21	DEPTH	LF	102	\$380.00	\$20.700.00	<b>6450.00</b>	#40 050 70	*****	20115000	****	
	30" JACK AND BORE CROSSING @ 11'	LI.	102	\$360,001	\$38,760.00	\$459.38	\$46,856.76	\$825.00	\$84,150.00	\$600.00	\$61,200.00
22	DEPTH	1 F	130	\$375.00	\$48,750.00	\$450.85	\$58,610.50	\$800.00	6404.000.00	<b>*</b> ***********************************	070.450.55
	30" JACK AND BORE CROSSING @ 13'	L1	100	φ373.00	φ40,730.00	φ430.03	\$30,010.3U	\$800,00	\$104,000.00	\$555.00	\$72,150.00
23	DEPTH DENE CHOOSING @ 15	LF	100	\$380.00	\$38,000.00	\$462.89	\$46,289.00	\$825.00	\$82,500.00	\$60E 00	#CO E00 00
24	12" X 10" TAPPING SLEEVE/VALVE	EA	3	\$3,500.00	\$10,500.00	\$3,831.97	\$11,495.91	\$8,300.00	\$82,500.00	\$605.00 \$4,680.00	\$60,500.00
25	12" X 6" TAPPING SLEEVE/VALVE	EA	3	\$2,100.00	\$6,300.00	\$2,372.35	\$7,117.05	\$7,600.00	\$24,900.00		\$14,040.00
	1	L-/ \		Ψ2,100.00]	Ψ0,300.00]	Ψ2,312.33	Ψ1,111.05	Φ1,000.00	φ∠∠,ο∪∪.∪∪	\$3,205.00	\$9,615.00

				E.T. MACKENZIE OF		DAVE FOOTE		FORSBERG		CICLIOTTI	CONTRACTING
					RIDA, INC.			_	RUCTION, INC.	1	CONTRACTING
							NMENTAL				TH, LLC
					33RD ST E		BRIAR FARMS		LF COURSE BLVD		DY HILLS RD
					TON, FL 34203		RS, FL 33905		GORDA, FL 33982		IILL, FL 34610
					<del>-756-6760</del>	239-3	69-6146	941-637-8500		(863)	665-7867
				UNIT	EXTENDED		EXTENDED	UNIT			EXTENDED
NO.	DESCRIPTION	U/M	QTY	PRICE	PRICE	UNIT PRICE	PRICE	PRICE	EXTENDED PRICE	UNIT PRICE	PRICE
1	MOBILIZATION	LS	1	\$32,435.00	\$32,435.00	\$37,445.00	\$37,445.00	\$200,000.00	\$200,000.00	\$140,375.00	\$140,375.00
2	MISCELLANEOUS WORK AND CLEAN-UP	LS	1	\$105,000.00	\$105,000.00	\$12,124.00	\$12,124.00	\$375,000.00	\$375,000.00	\$40,600.00	\$40,600.00
3	3" DUCTILE IRON PIPE WATER MAIN	LF	95	\$40.00	\$3,800.00	\$48.00	\$4,560.00	\$55.00	\$5,225,00	\$44.64	\$4,240,80
4	6" DUCTILE IRON PIPE WATER MAIN	LF	223	\$48.00	\$10,704.00	\$42.00	\$9,366.00	\$40.00	\$8,920.00	\$42.34	\$9,441.82
5	8" DUCTILE IRON PIPE WATER MAIN	LF	605	\$45.00	\$27,225.00	\$44.00	\$26,620.00				\$27,448.85
6	10" DUCTILE IRON PIPE WATER MAIN	LF	479	\$36.00	\$17,244.00	\$50,00				\$50.00	
7	12" DUCTILE IRON PIPE WATER MAIN	LF	105	\$59.00	\$6,195.00		\$6,720.00				,=-,
8	16" DUCTILE IRON PIPE WATER MAIN	LF	5,146	\$65.00	\$334,490.00		\$411,680.00	\$65.00			\$370,563.46
	16" DIP SUPPLIED BY MANATEE COUNTY				4,00,1,000.00	400.00	V 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	₩00.00	<b>\$551,155.55</b>	Ψ/2.01	\$670,000.40
	(ADDENDUM #2) PROVIDE INSTALLATION										
8a	COST ONLY	LF	220	\$15,00	\$3,300.00	\$27.00	\$5,940.00	\$50.00	\$11,000.00	\$21.90	\$4,818.00
9	DUCTILE IRON FITTINGS, WATER	TON	12.50	\$4,500.00	\$56,250.00		\$91,300.00		· · · · · · · · · · · · · · · · · · ·	\$2,044.06	\$25,550.75
10	4" JOINT RESTRAINTS	EA	2	\$87.50	\$175.00		\$91,300.00	\$2,600.00		\$2,044.06	· · · · · · · · · · · · · · · · · · ·
11	6" JOINT RESTRAINTS	EA	36	\$95,50	\$3,438.00	<del></del>	\$2,844.00			\$129.10	
12	8" JOINT RESTRAINTS	EA	55	\$124.00	\$6,820.00		\$6,820.00			\$129.10	
13	10" JOINT RESTRAINTS	ĒΑ	87	\$151.00	\$13,137.00		\$14,964.00	\$115.00		\$267.79	
14	12" JOINT RESTRAINTS	EA	45	\$199.00	\$8,955.00		\$9,090.00	\$125.00		\$304.23	
15	16" JOINT RESTRAINTS	EA	171	\$286.00	\$48,906.00		\$58,482.00	\$300.00		\$593.95	
16	THRUST BLOCKS	CY	7	\$300.00	\$2,100.00		\$7,392.00	\$200.00	\$1,400.00		
	16" JACK AND BORE CROSSING @ 7'	- 01	<del>  ' </del>	\$300.00	φ2,100.00	\$1,056.00	\$7,392.00	\$200.00	\$1,400.00	\$250.00	\$1,750.00
17	DEPTH	LF	46	\$405.00	\$18,630.00	\$515.00	\$23,690,00	\$650.00	****	2505.00	
	24" JACK AND BORE CROSSING @ 8'	LI	- 40	\$405.00	\$10,030.00	\$515.00	\$23,690.00	\$650.00	\$29,900.00	\$525.36	\$24,166.56
18	DEPTH	LF	30	\$619.00	\$18,570.00	\$773.00	200 400 00	** ***	*******		*****
<del>'</del>	24" JACK AND BORE CROSSING @ 12'	LI	30	\$019.00	\$10,570.00	\$773.00	\$23,190.00	\$1,000.00	\$30,000.00	\$845.15	\$25,354.50
19	DEPTH	LF	30	\$773.00	\$23,190.00	6772.00	#22.400.00	£4 000 00	****	204545	****
· · · ·	30" JACK AND BORE CROSSING @ 10'	ᄕ	30	φ113.UU	φ <b>∠</b> 3, 190.00	\$773.00	\$23,190.00	\$1,000.00	\$30,000.00	\$845.15	\$25,354.50
20	DEPTH	LF	32	\$700.52	600 440 04	\$670.00	004 504 00	64 000 00	****	****	
F-20	30" JACK AND BORE CROSSING @ 11'	LF	32	\$700.52	\$22,416.64	\$672.00	\$21,504.00	\$1,000.00	\$32,000.00	\$847.88	\$27,132.16
21	DEPTH	LF	102	\$336.06	\$34,278.12	\$619.00	eca 430 00	\$600.00	#C4 000 00	6047.00	200 400
	30" JACK AND BORE CROSSING @ 11'	L[	102	\$330.00	<b>Φ34,270.12</b>	\$619.00	\$63,138.00	\$600.00	\$61,200.00	\$847.88	\$86,483.76
22	DEPTH	LF	130	\$288.78	\$37,541.40	\$595.00	#77 2E0 00	\$600.00	670.000.00	6047.00	****
<del></del>	30" JACK AND BORE CROSSING @ 13'		130	₹200.78	φ37,341.40	\$595.00	\$77,350.00	φουυ.υυ	\$78,000.00	\$847.88	\$110,224.40
23	DEPTH	LF	100	6254 70	\$25.470.00	\$646.00	#C4 900 00	#c00.00	400,000,00	0005.00	****
24	12" X 10" TAPPING SLEEVE/VALVE	EA	3	\$354.79 \$4,755.00	\$35,479.00 \$14,265.00		\$61,800.00	\$600.00 \$5,000.00	\$60,000.00	\$865.62	\$86,562.00
25	12" X 6" TAPPING SLEEVE/VALVE	EA	3		\$14,265.00 \$10,140.00	\$5,241.00 \$3,607.00	\$15,723.00		\$15,000.00	\$4,231.25	\$12,693.75
	THE A O THE TIME OFFICE AND AFFICE		ادا	\$3,380.00	\$10,140.00	\$3,697.00	\$11,091.00	\$3,700.00	\$11,100.00	\$2,870.92	\$8,612.76

				GENERAL CONTRACTING		GULFCOAST UTILITY				KUXHAUSEN	
				SERVIC	CES, INC.	CONSTRI	UCTORS, INC.	CARL HA	NKINS, INC.	CONSTRI	UCTION, INC.
				POB	OX 630	1363	2ND ST N	14512 N. NE	BRASKA AVE.	PO BOX 21087	
				PLACIDA	A, FL 33946	ST. PETERS	BURG, FL 33713	TAMPA	A, FL 33613	SARASOTA	, FL 34276-4087
				941-69	97-2047	727-	328-7882	813-977-7270		941-379-6603	
					EXTENDED	UNIT	EXTENDED		EXTENDED		EXTENDED
NO.	DESCRIPTION	U/M	QTY	UNIT PRICE	PRICE	PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE
1	MOBILIZATION	LS	1	\$145,000.00	\$145,000.00	\$10,000,00	\$10,000.00	\$63,700.00	\$63,700.00	\$150,000.00	\$150,000.00
2	MISCELLANEOUS WORK AND CLEAN-UP	LS	1	\$7,945.00	\$7,945.00	\$1.00	\$1.00	\$34,300.00	\$34,300.00	\$20,000.00	\$20,000.00
3	3" DUCTILE IRON PIPE WATER MAIN	LF	95	\$32.00	\$3,040.00		\$5,700.00	\$66.64	\$6,330.80	\$49.00	\$4,655.00
4	6" DUCTILE IRON PIPE WATER MAIN	LF	223	\$34.00	\$7,582.00	\$65.00	\$14,495.00	\$42.58	\$9,495.34	\$37.00	\$8,251.00
5	8" DUCTILE IRON PIPE WATER MAIN	LF	605	\$35.00	\$21,175.00	\$66.00	\$39,930.00	\$50.96	\$30,830.80	\$40.00	\$24,200.00
6	10" DUCTILE IRON PIPE WATER MAIN	LF	479	\$36.00	\$17,244.00	\$70.00	\$33,530.00	\$59.29	\$28,399.91	\$50.00	\$23,950.00
7	12" DUCTILE IRON PIPE WATER MAIN	LF	105	\$56,00	\$5,880.00		\$9,450.00	\$65.66	\$6,894.30	\$51.00	\$5,355.00
8	16" DUCTILE IRON PIPE WATER MAIN	LF	5.146	\$71.00	\$365,366.00	<del></del>	\$488,870.00	\$98,98	\$509,351.08	\$69.00	\$355,074.00
	16" DIP SUPPLIED BY MANATEE COUNTY										
	(ADDENDUM #2) PROVIDE INSTALLATION										
8a	COST ONLY	LF	220	\$37.00	\$8,140.00	\$40.00	\$8,800.00	\$41.16	\$9,055,20	\$26.00	\$5,720.00
9	DUCTILE IRON FITTINGS, WATER	TON	12.50	\$5,200.00	\$65,000.00		\$159,375.00			\$5,875.00	\$73,437.50
10	4" JOINT RESTRAINTS	EA	2	\$51.00	\$102.00		\$500.00	\$54.88			\$166.00
11	6" JOINT RESTRAINTS	EA	36	\$188.00	\$6,768.00	\$300.00	\$10,800.00	\$161.70	\$5,821,20	\$175.00	\$6,300.00
12	8" JOINT RESTRAINTS	EA	55	\$255.00	\$14,025.00	\$350.00	\$19,250.00	\$206.78	\$11,372.90	\$238.00	\$13,090.00
13	10" JOINT RESTRAINTS	EA	87	\$286.00	\$24,882.00		\$34,800.00	\$252.84	\$21,997.08	\$300.00	\$26,100.00
14	12" JOINT RESTRAINTS	EA	45	\$367.00	\$16,515.00	\$500.00	\$22,500.00	\$333.20	\$14,994.00	\$388.00	\$17,460.00
15	16" JOINT RESTRAINTS	EA	171	\$456.00	\$77,976.00	\$750.00	\$128,250.00	\$475.30	\$81,276.30	\$525.00	\$89,775.00
16	THRUST BLOCKS	CY	7	\$488.00	\$3,416.00	\$500.00	\$3,500.00	\$245.00	\$1,715.00	\$468.00	\$3,276.00
	16" JACK AND BORE CROSSING @ 7'										
17	DEPTH	LF	46	\$432.00	\$19,872.00	\$350.00	\$16,100.00	\$253.33	\$11,653.18	\$415.00	\$19,090.00
	24" JACK AND BORE CROSSING @ 8'										
18	DEPTH	LF_	30	\$513.00	\$15,390.00	\$450.00	\$13,500.00	\$386.61	\$11,598.30	\$603.00	\$18,090.00
	24" JACK AND BORE CROSSING @ 12'										
19	DEPTH	LF	30	\$506.00	\$15,180.00	\$450.00	\$13,500.00	\$386.61	\$11,598.30	\$603.00	\$18,090.00
	30" JACK AND BORE CROSSING @ 10'										
20	DEPTH	LF	32	\$545.00	\$17,440.00	\$550.00	\$17,600.00	\$343.50	\$10,992.00	\$436.00	\$13,952.00
	30" JACK AND BORE CROSSING @ 11'										
21	DEPTH	LF	102	\$478.00	\$48,756.00	\$550.00	\$56,100.00	\$244.45	\$24,933.90	\$436.00	\$44,472.00
	30" JACK AND BORE CROSSING @ 11'										
22	DEPTH	LF_	130	\$482.00	\$62,660.00	\$550.00	\$71,500.00	\$119.08	\$15,480.40	\$437.00	\$56,810.00
	30" JACK AND BORE CROSSING @ 13'										
23	DEPTH	LF	100	\$495.00		\$550.00	\$55,000.00				
24	12" X 10" TAPPING SLEEVE/VALVE	EA	3	\$3,645.00			\$13,500.00				
25	12" X 6" TAPPING SLEEVE/VALVE	EA	3	\$2,520.00	\$7,560.00	\$4,000.00	\$12,000.00	\$2,241.26	\$6,723.78	\$2,875.00	\$8,625.00

				MCLEODI	ND CEDVICES		AND JORDAN,	OT A TEN A CONTROL OF ORG		CTEEL E & ACCOCIATION INC.		
					AND SERVICES		NC.		ONTRACTORS		ASSOCIATES, INC.	
					TH ST CT E		OX 2295		3RD ST E		DUSTRIAL CT.	
					ΓA, FL 34243		LLS, FL 33539		ON, FL 34203		RETTA, GA 30004	
				941->	22-1861	813-7	813-783-1132		941-756-4700		770-475-8199	
NO.	DESCRIPTION	U/M	ατγ	UNIT PRICE	EXTENDED PRICE	LINIT DDICE	EXTENDED	LINIT PRIOR	EXTENDED			
1	MOBILIZATION	LS	1			UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	EXTENDED PRICE	
<u>'</u>	MODILIZATION	LO	<del>  '</del>	\$48,810.71	\$48,810.71	\$63,249.14	\$63,249.14	\$34,105.00	\$34,105.00	\$75,000.00	\$75,000.00	
2	MISCELLANEOUS WORK AND CLEAN-UP	LS	1	\$28,595.00	\$28,595.00	\$45,716.76	\$45,716.76	\$3,000.00	\$3,000.00	\$50,000.00	250 000 00	
3	3" DUCTILE IRON PIPE WATER MAIN	LF	95	\$24.74	\$2,350.30		\$2,980.15		\$3,000.00			
4	6" DUCTILE IRON PIPE WATER MAIN	LF	223	\$20.78	\$4,633.94		\$6,038.84		\$4,683.00		40,0,000	
5	8" DUCTILE IRON PIPE WATER MAIN	LF	605	\$21.90	\$13,249.50	\$28.99	\$17,538.95	\$31.00			7	
6	10" DUCTILE IRON PIPE WATER MAIN	LF	479	\$27.36	\$13,105,44	\$35.49	\$16,999.71	\$27.00	\$12,933.00			
7	12" DUCTILE IRON PIPE WATER MAIN	LF	105	\$46.47	\$4,879.35	\$54.97	\$5,771.85	\$33.00	\$3,465.00			
8	16" DUCTILE IRON PIPE WATER MAIN	LF	5,146	\$55.94	\$287,867.24	\$73.17	\$376,532.82	\$44.50		\$141.00		
	16" DIP SUPPLIED BY MANATEE COUNTY						¥ - 7 - 7 - 2 - 2 - 2 - 2 - 2 - 2 - 2 - 2		<b>4220,007.00</b>	ψ1-¥1.00	Ψ723,300.00	
	(ADDENDUM #2) PROVIDE INSTALLATION											
8a	COST ONLY	LF	220	\$11.01	\$2,422.20	\$12.25	\$2,695.00	\$17.00	\$3,740.00	\$100.00	\$22,000.00	
9	DUCTILE IRON FITTINGS, WATER	TON	12.50	\$4,585.17	\$57,314.63	\$6,334.78	\$79,184.75	\$4,640.00	\$58,000.00		722,000,00	
10	4" JOINT RESTRAINTS	EA	2	\$50.69	\$101.38	\$45.53	\$91.06	\$75.00	\$150.00	\$100.00		
11	6" JOINT RESTRAINTS	ĒΑ	36	\$57.98	\$2,087.28	\$52.05	\$1,873.80		\$3,708.00		\$10,800.00	
12	8" JOINT RESTRAINTS	EA	55	\$79.35	\$4,364.25	\$87.00	\$4,785.00	\$107.00	\$5,885.00			
13	10" JOINT RESTRAINTS	EA	87	\$121.79	\$10,595.73	\$141.32	\$12,294.84	\$130.00	\$11,310.00		\$34,800.00	
14	12" JOINT RESTRAINTS	EΑ	45	\$131.14	\$5,901.30	\$166.97	\$7,513.65	\$173.00	\$7,785,00		\$20,700.00	
15	16" JOINT RESTRAINTS	EA	171	\$252.94	\$43,252.74	\$338.00	\$57,798.00	\$247.00	\$42,237.00		\$97,470.00	
16_	THRUST BLOCKS	CY	7	\$221.94	\$1,553.58	\$330.05	\$2,310.35	\$350.00	\$2,450.00	\$250.00	\$1,750,00	
	16" JACK AND BORE CROSSING @ 7'											
17	DEPTH	LF	46	\$367.07	\$16,885.22	\$495.06	\$22,772.76	\$383.00	\$17,618.00	\$400.00	\$18,400.00	
	24" JACK AND BORE CROSSING @ 8'											
18	DEPTH	LF	30	\$563.81	\$16,914.30	\$765.12	\$22,953.60	\$639.00	\$19,170.00	\$580.00	\$17,400.00	
	24" JACK AND BORE CROSSING @ 12'			i								
19	DEPTH DOUGLE OF THE PERSON OF	LF_	30	\$563.81	\$16,914.30	\$765.12	\$22,953.60	\$658.00	\$19,740.00	\$600.00	\$18,000.00	
	30" JACK AND BORE CROSSING @ 10'			ŀ								
20_	DEPTH	LF	32	\$399.46	\$12,782.72	\$571.28	\$18,280.96	\$726.00	\$23,232.00	\$400.00	\$12,800.00	
	30" JACK AND BORE CROSSING @ 11'					İ						
21	DEPTH	LF	102	\$391.01	\$39,883.02	\$541.79	\$55,262.58	\$418.00	\$42,636.00	\$410.00	\$41,820.00	
	30" JACK AND BORE CROSSING @ 11'					İ						
22	DEPTH 30" JACK AND BORE CROSSING @ 13'	LF	130	\$386.97	\$50,306.10	\$539.16	\$70,090.80	\$411.00	\$53,430.00	\$420.00	\$54,600.00	
22	DEPTH 13		400						i			
23 24	12" X 10" TAPPING SLEEVE/VALVE	LF	100	\$390.55	\$39,055.00		\$54,324.00	\$442.00	\$44,200.00	\$430.00	\$43,000.00	
25	12" X 6" TAPPING SLEEVE/VALVE	EA EA	3	\$3,986.03	\$11,958.09	\$5,595.75 \$4,074.12	\$16,787.25	\$4,730.00	\$14,190.00	\$5,000.00	\$15,000.00	
	TIE NO INFINO SELEVEIVALVE	EA	_ 3	\$2,304.25	\$2,304.25 \$6,912.75		\$12,222.36	\$3,463.00	\$10,389.00	\$3,500.00	\$10,500.00	

				WESTDA	CONSTRUCTION		
					CORP.	WOODRI	FF & SONS, INC.
					BOX 1149		BOX 10127
					TTO, FL 34220		ON, FL 34282-0127
					1-123-1611	_	1-756-1871
<u> </u>			)f		1-123-1011	UNIT	EXTENDED
NO.	DESCRIPTION	U/M	QTY	UNIT PRICE	EXTENDED PRICE	PRICE	PRICE
1	MOBILIZATION	LS	1	\$74,650.00			\$108,734.15
				***************************************	<b>\$</b> 1.1,00\$100	<b>4</b> ,,	<b>4100,701.10</b>
2	MISCELLANEOUS WORK AND CLEAN-UP	LS	1	\$34,250.00	\$34,250.00	\$79,482.26	\$79,482.26
3	3" DUCTILE IRON PIPE WATER MAIN	LF	95	\$46.45	\$4,412.75	\$36.44	\$3,461.80
4	6" DUCTILE IRON PIPE WATER MAIN	LF	223	\$33.40	\$7,448.20	\$30.50	
5	8" DUCTILE IRON PIPE WATER MAIN	LF	605	\$39.90	\$24,139.50	\$32.61	\$19,729.05
6	10" DUCTILE IRON PIPE WATER MAIN	LF	479	\$49.45	\$23,686,55	\$37.55	\$17,986.45
7	12" DUCTILE IRON PIPE WATER MAIN	LF	105	\$93.00	\$9,765.00	\$42.56	\$4,468.80
8	16" DUCTILE IRON PIPE WATER MAIN	LF	5.146	\$77.65		\$58.69	\$302,018.74
	16" DIP SUPPLIED BY MANATEE COUNTY						, , , , , ,
	(ADDENDUM #2) PROVIDE INSTALLATION						
8a	COST ONLY	LF	220	\$24.45	\$5,379.00	\$16.11	\$3,544.20
9	DUCTILE IRON FITTINGS, WATER	TON	12.50	\$3,759.00	\$46,987.50	\$4,409.59	\$55,119.88
10	4" JOINT RESTRAINTS	EA	2	\$60.15	\$120.30	\$245.52	\$491.04
11	6" JOINT RESTRAINTS	EA	36	\$72.95	\$2,626.20	\$166.37	\$5,989.32
12	8" JOINT RESTRAINTS	EA	55	\$81.95	\$4,507.25	\$194.62	\$10,704.10
13	10" JOINT RESTRAINTS	EA	87	\$130.00		\$245.67	\$21,373.29
14	12" JOINT RESTRAINTS	EA	45	\$132.00	\$5,940.00	\$293.34	\$13,200.30
15	16" JOINT RESTRAINTS	EA	171	\$251.00	\$42,921.00	\$428.08	\$73,201.68
16	THRUST BLOCKS	CY	7	\$266.00	\$1,862.00	\$383.92	\$2,687.44
	16" JACK AND BORE CROSSING @ 7'			,	* * * * * * * * * * * * * * * * * * * *	,	<del>, _,</del> _,
17	DEPTH	LF	46	\$438.00	\$20,148.00	\$619.11	\$28,479.06
	24" JACK AND BORE CROSSING @ 8'						
18	DEPTH	LF	30	\$733.55	\$22,006.50	\$936.07	\$28,082.10
	24" JACK AND BORE CROSSING @ 12'						
19	DEPTH	LF	30	\$745.00	\$22,350.00	\$998.64	\$29,959.20
	30" JACK AND BORE CROSSING @ 10'						
20	DEPTH	LF	32	\$827.00	\$26,464.00	\$969.74	\$31,031.68
	30" JACK AND BORE CROSSING @ 11'						
21	DEPTH	LF	102	\$490.00	\$49,980.00	\$402.07	\$41,011.14
	30" JACK AND BORE CROSSING @ 11'						
22	DEPTH	LF	130	\$487.00	\$63,310.00	\$395.10	\$51,363.00
	30" JACK AND BORE CROSSING @ 13'				-		
23	DEPTH	LF	100	\$495.00	\$49,500.00	\$371.21	\$37,121.00
24	12" X 10" TAPPING SLEEVE/VALVE	EA	3	\$5,050.00	\$15,150.00	\$4,817.78	\$14,453.34
25	12" X 6" TAPPING SLEEVE/VALVE	EA	3	\$3,118.00	\$9,354.00	\$3,225.57	\$9,676.71

						PETER A BASILE SONS,				FREDERICK DERR & CO.	
				A&L UNDER	GROUND INC.	IEIEKA	INC.	C&M POAD	BUILDERS, INC.	1	NC.
					elrose Dr.	5149	SW US 17	1	3RD ST. E.		RANGE AVE.
					KS 66214		DIA, FL 34266	SARASOTA, FL 34243			FA, FL 34234
				913-4	38-2981		-993-2588	941-758-1933		941-355-8575	
					EXTENDED	UNIT	EXTENDED	UNIT	EXTENDED		EXTENDED
NO.	DESCRIPTION	U/M	QTY	UNIT PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	UNIT PRICE	PRICE
26	2" GATE VALVE	EA	1	\$405.00	\$405.00	\$612.50	\$612.50	\$400.00	\$400.00	\$600.00	\$600.00
27	6" GATE VALVE	EA	7	\$835.00	\$5,845.00	\$921.59	\$6,451.13			***************************************	\$6,615.00
28	8" GATE VALVE	_ EA	4	\$1,200.00	\$4,800.00	\$1,216.18	\$4,864.72	\$1,350.00			\$4,980.00
29_	10" GATE VALVE	EA	5	\$1,700.00	\$8,500.00	\$1,882.60	\$9,413.00	\$1,900.00	\$9,500.00		\$9,300.00
30	12" GATE VALVE	_ EA	3	\$2,000.00	\$6,000.00	\$2,115.75	\$6,347.25	\$2,200.00	\$6,600.00	\$2,100.00	\$6,300.00
31	16" BUTTERFLY VALVE	EA	11	\$3,900.00	\$42,900.00		\$40,237.34	\$3,800.00	\$41,800.00	\$3,615.00	\$39,765.00
32	HYDRANT ASSEMBLY	EA	3	\$5,300.00	\$15,900.00		\$15,509.49	\$6,600.00	\$19,800.00	\$5,065.00	\$15,195.00
33	HYDRANT BLOW-OFF ASSEMBLY	EA	1	\$9,950.00	\$9,950.00	\$5,832.37	\$5,832.37	\$5,800.00	\$5,800.00	\$5,720.00	\$5,720.00
34	10" FIRE LINE BACK-FLOW PREVENTER	EA	2	\$14,000.00	\$28,000.00	\$14,330.37	\$28.660.74	\$23,500.00	\$47,000.00	\$14,470.00	\$28,940.00
	16" MASTER METER ASSEMBLY WITH						,,,-	<u> </u>	477,000.00	\$14,470.00	Ψ20,340.00
	PVR (Supplied by Manatee County)					1					
	(ADDENDUM #1) (ADDENDUM #2) provide		İ			1					
35	installation cost only	EA	1	\$6,800.00	\$6,800.00	\$3,386.47	\$3,386.47	\$18,000.00	\$18,000.00	\$2,220.00	\$2,220.00
	ABOVE GROUND AIR RELEASE							4,5=1444	<b>V.0,000,00</b>	42,220.00	Ψ2,220.00
36	ASSEMBLY	EA	5	\$2,700.00	\$13,500.00	\$2,578.04	\$12,890.20	\$3,000.00	\$15,000.00	\$3,370.00	\$16,850.00
								, ,,	7,010	00,010.00	\$10,000.00
37	BELOW GRADE AIR RELEASE ASSEMBLY	EA	1	\$2,000.00	\$2,000.00	\$5,780.62	\$5,780.62	\$4,600.00	\$4,600.00	\$6,240.00	\$6,240.00
38_	WATER SERVICE	EA	2	\$5,000.00	\$10,000.00	\$928.66	\$1,857.32	\$1,500.00	\$3,000.00	\$1,000,00	\$2,000.00
	WATER SERVICES/METER										
39	RECONNECTIONS	EA	2	\$2,000.00	\$4,000.00	\$1,488.95	\$2,977.90	\$2,100.00	\$4,200.00	\$2,050.00	\$4,100.00
40	HYDRANT RELOCATION	<u>EA</u>	1	\$4,000.00	\$4,000.00	\$1,216.39	\$1,216.39	\$1,750.00	\$1,750.00	\$1,040.00	\$1,040.00
	SODDING (ASSUMING 6' WIDE TRENCH)					l					
41	(ADDENDUM #1)	SY	3,364	\$1.65	\$5,550.60	\$1.81	\$6,088.84	\$6.50	\$21,866.00	\$1.75	\$5,887.00
	PAVEMENT REPAIR AND ROAD										
40	RESTORATION (ASSUMING 6' WIDE									l	
42	TRENCH)	SY	1,137	\$31.00	\$35,247.00	\$32.15	\$36,554.55	\$135.00	\$153,495.00	\$65.80	\$74,814.60
43	MISCELLANEOUS CONCRETE	CY	4	\$970.00	\$3,880.00	\$547.44	\$2,189.76	\$215.00	\$860.00	\$485.00	\$1,940.00
44	CONCRETE CURB	LF	10	\$23.00	\$230.00	\$31.97	\$319.70	\$45.00	\$450.00	\$75.00	\$750.00
45	DRIVEWAY RESTORATION (ASSUMING 6' WIDE TRENCH)	SY	440								
45	IN-PLACE GROUTING OF EXISTING 6"	31	113	\$41.00	\$4,633.00	\$29.73	\$3,359.49	\$105.00	\$11,865.00	\$50.65	\$5,723.45
46	PIPE	LF	2 200	00.00	00.004.00	20.55				J	
70	IN-PLACE GROUTING OF EXISTING 8"	LF	2,298	\$3.00	\$6,894.00	\$2.82	\$6,480.36	\$16.00	\$36,768.00	\$4.00	\$9,192.00
47	PIPE	LF	1.024	\$4.00	\$4,096.00	64 60	64.045.00	***	400 405 55		
<u> </u>	<u> </u>	<u> </u>	1,024	\$4.00]	Ψ4,090.00]	\$4.80	\$4,915.20	\$20.00	\$20,480.00	\$4.50	\$4,608.00

										~	
				E.T. MA	CKENZIE OF	DAVE FOOTE		F	ORSBERG	GIGLIOTTI	CONTRACTING
				FLO	RIDA, INC.		NMENTAL		RUCTION, INC.		TH. LLC
				6212	33RD ST E		BRIAR FARMS		F COURSE BLVD		DY HILLS RD
				BRADEN	TON, FL 34203		RS, FL 33905		GORDA, FL 33982		ILL, FL 34610
					-756-6760		69-6146	941-637-8500			665-7867
			<u>r                                    </u>	UNIT	EXTENDED		EXTENDED	UNIT	1 057 0500	(005)	EXTENDED
NO.	DESCRIPTION	U/M	QTY	PRICE	PRICE	UNIT PRICE	PRICE		EXTENDED PRICE	LINIT PRICE	PRICE
26	2" GATE VALVE	EA	1	\$550.00	\$550.00		\$796.00	\$900.00	\$900.00		
27	6" GATE VALVE	EA	7	\$815.00	\$5,705.00	7	\$9,541.00	\$1,100.00	\$7,700.00		\$468.51
28	8" GATE VALVE	EA	4	\$1,175.00	\$4,700.00		\$7,688.00		\$5,600.00		\$5,991.72
29	10" GATE VALVE	ĒA	5	\$1,550.00	\$7,750.00		\$12,480.00	\$2,200.00	\$5,600.00		\$4,569.00 \$8,360.95
30	12" GATE VALVE	EA	3	\$1,995.00	\$5,985.00	<del></del>	\$8,970.00	\$2,700.00	\$8,100.00	\$2,010.89	\$6,032.67
31	16" BUTTERFLY VALVE	EA	11	\$3,200.00	\$35,200.00		\$34,408.00		\$47,300,00		\$26,149.31
32	HYDRANT ASSEMBLY	ĒA	3	\$4,695.00	\$14,085.00		\$13,071.00	\$7,500.00	\$22,500.00	\$3,353.89	\$10,061.67
33	HYDRANT BLOW-OFF ASSEMBLY	EA	1	\$6,200.00	\$6,200.00		\$5,663.00	\$10,000.00	\$10,000.00	\$3,875.45	\$3,875.45
				40,200.00	40,200.00	\$5,555.55	ψο,οσο.οσ	Ψ10,000.00	\$10,000.00	\$3,675.45	\$3,675.45
34	10" FIRE LINE BACK-FLOW PREVENTER	EA	2	\$11,675.00	\$23,350.00	\$15,660.00	\$31,320.00	\$20,000.00	\$40,000.00	\$14,997.37	\$29,994.74
	16" MASTER METER ASSEMBLY WITH		<del>  -</del>	<b>V</b> joo.oo	<del>\$2</del> 0,000.00	<b>\$15,000.00</b>	<b>\$01,020.00</b>	Ψ20,000.00		\$14,557.57	\$29,994.14
	PVR (Supplied by Manatee County)										ļ
	(ADDENDUM #1) (ADDENDUM #2) provide										
35	installation cost only	EA	1 1	\$2,845.00	#2 04F 00	#0.07F.00	80.075.00	245 000 00			
	ABOVE GROUND AIR RELEASE		<del>-</del> -	\$2,645.00	\$2,845.00	\$2,975.00	\$2,975.00	\$15,000.00	\$15,000.00	\$5,600.00	\$5,600.00
36	ASSEMBLY	EA	5	\$2,560.00	640.000.00	00 504 00		•= •=• ==			
	ACCEMBET		-	\$2,360.00	\$12,800.00	\$3,584.00	\$17,920.00	\$5,000.00	\$25,000.00	\$3,348.12	\$16,740.60
37	BELOW GRADE AIR RELEASE ASSEMBLY	EA	1	\$3,350.00	\$3,350.00	\$5,242.00	ØE 242.00	#C 500 00	** ***		
	WATER SERVICE	EA	2	\$2,600.00	\$5,200.00		\$5,242.00	\$6,500.00	\$6,500.00	\$4,208.80	\$4,208.80
	WATER SERVICES/METER		-	\$2,000.00	\$5,200.00	\$1,629.00	\$3,258.00	\$3,500.00	\$7,000.00	\$662.48	\$1,324.96
39	RECONNECTIONS	EA	2	\$195.00	\$390.00	\$3,892.00	\$7,784.00	\$2,000.00	#4 000 00	** *** **	
	HYDRANT RELOCATION	EA	1	\$1,130.00	\$1,130.00	\$2,160.00	\$2,160.00	\$4,000.00	\$4,000.00	\$2,652.65	\$5,305.30
	SODDING (ASSUMING 6' WIDE TRENCH)		<u> </u>	ψ1,100.00	ψ1,130.00	Ψ2,100.00	\$2,100.00	\$4,000.00	\$4,000.00	\$2,100.00	\$2,100.00
41	(ADDENDUM #1)	SY	3,364	\$2.20	\$7,400.80	\$2.00	ec 720 00	#2 OO	640,000,00	***	22.722.44
: <u></u>	PAVEMENT REPAIR AND ROAD	0.	3,307	Ψ2.20	\$7,400.80	\$2.00	\$6,728.00	\$3.00	\$10,092.00	\$2.00	\$6,728.00
	RESTORATION (ASSUMING 6' WIDE								İ		
42	TRENCH)	SY	1,137	\$35.00	\$39,795.00	\$35,00	#20 70F 00	0.45.00	<b>\$</b> 54.48 <b>5</b> .00		
43	MISCELLANEOUS CONCRETE	CY	4	\$190.00	\$760.00	\$35.00 \$314.00	\$39,795.00 \$1,256.00	\$45.00	\$51,165.00	\$61.30	\$69,698.10
44	CONCRETE CURB	J.F	10	\$25.00	\$250.00	\$314.00		\$200.00	\$800.00	\$450.00	\$1,800.00
	DRIVEWAY RESTORATION (ASSUMING 6'	LI	- ''-	\$25.00	\$∠50.00	<b>⊅∠04.00</b>	\$2,840.00	\$50.00	\$500.00	\$38.00	\$380.00
45	WIDE TRENCH)	SY	113	\$35.00	\$3,955.00	\$36,00	£4.060.00	ØE0 00	#F 050 00	201 22	** ***
	IN-PLACE GROUTING OF EXISTING 6"	01	<del>  '''  </del>	\$35.00	აა,935.00	\$30,UU	\$4,068.00	\$50.00	\$5,650.00	\$61.30	\$6,926.90
46	PIPE	LF	2,298	\$4.30	\$9,881.40	\$3.00	\$6,894.00	62 50	\$E 745.00	**	20.045.55
<u> </u>	IN-PLACE GROUTING OF EXISTING 8"		-,200	φ4.30	φ5,001.40	\$3.00	\$0,094.00	\$2.50	\$5,745.00	\$3.50	\$8,043.00
47	PIPE	IF	1.024	\$5.60	\$5,734.40	\$4.00	\$4 00e 00	\$2.50	60 ECO 00		94.745 :-
<u> </u>	<u> </u>	<del></del>	1,024	\$3.60	φ5,734.40	₩.00	\$4,096.00	<b>\$∠.50</b>	\$2,560.00	\$4.60	\$4,710.40

				GENERAL CO	ONTRACTING	GULFCO	AST UTILITY			KUXI	HAUSEN
				SERVIC	ES, INC.	CONSTRU	JCTORS, INC.	CARL HANKINS, INC.		CONSTRUCTION, INC.	
				POB	OX 630	1363 2	2ND ST N	14512 N. NEBRASKA AVE.		PO BOX 21087	
				PLACIDA	, FL 33946	ST. PETERS	BURG, FL 33713	TAMPA	, FL 33613	SARASOTA, FL 34276-408'	
				941-69	7-2047		328-7882	813-977-7270		941-379-6603	
					EXTENDED	UNIT	EXTENDED		EXTENDED		EXTENDED
NO.	DESCRIPTION	U/M	QTY	UNIT PRICE	PRICE	PRICE	PRICE	UNIT PRICE		UNIT PRICE	PRICE
26	2" GATE VALVE	EA	1	\$682.00	\$682.00	\$500.00	\$500.00	\$784.00	\$784.00	\$487.00	\$487.00
27	6" GATE VALVE	EA	7	\$756.00	\$5,292.00	\$1,000.00	\$7,000.00	\$1,364.16	\$9,549.12	\$738.00	\$5,166.00
28	8" GATE VALVE	EA	4	\$1,245.00	\$4,980.00	\$1,400.00	\$5,600,00	\$1,791.44	\$7,165,76	\$995.00	\$3,980.00
29	10" GATE VALVE	EA	5	\$1,760.00	\$8,800.00	\$1,750.00	\$8,750.00	\$2,290.75	\$11,453.75		\$7,235.00
30	12" GATE VALVE	EA	3	\$2,345.00	\$7,035.00	\$2,000.00	\$6,000.00	\$2,842.00	\$8,526.00	\$1,815.00	\$5,445.00
31	16" BUTTERFLY VALVE	EA	11	\$3,820.00	\$42,020.00	\$3,800.00	\$41,800.00	\$4,704.00	\$51,744.00	\$3,139.00	\$34,529.00
32	HYDRANT ASSEMBLY	EA	3	\$6,345.00	\$19,035.00	\$4,000.00	\$12,000.00	\$5,691.84	\$17.075.52	\$5,365.00	\$16,095.00
33	HYDRANT BLOW-OFF ASSEMBLY	EA	1	\$8,567.00	\$8,567.00	\$7,800.00	\$7,800.00	\$8,428.00	\$8,428.00	\$7,989.00	\$7,989.00
						47/1993399	Ţ., joco.ioc.	40,120.00	\$0,420.00	<b>\$7,000.00</b>	Ψ7,303.00
34	10" FIRE LINE BACK-FLOW PREVENTER	EΑ	2	\$13,450.00	\$26,900.00	\$17,500.00	\$35,000.00	\$11,270.00	\$22,540,00	\$12,076.00	\$24,152.00
	16" MASTER METER ASSEMBLY WITH	-					¥,	7	<del>422,5 15.55</del>	¥12,676.66	ΨZ-1,10Z.00
	PVR (Supplied by Manatee County)								i		
1	(ADDENDUM #1) (ADDENDUM #2) provide									i	
	installation cost only	EA	1 1	\$6,455.00	\$6,455,00	\$15,000,00	\$15,000.00	\$2,450.00	\$2,450,00	\$7.800.00	67.000.00
	ABOVE GROUND AIR RELEASE		<del></del>	ψο,433.00	ψ0,433.00	\$13,000.00	\$15,000.00	\$2,450.00	\$2,450.00	\$7,800.00	\$7,800.00
1	ASSEMBLY	EA	5	\$2,975.00	\$14,875.00	\$3,500.00	\$17,500,00	644 700 00	<b>#ED 000 00</b>	*******	24.542.2
	NOOLINGET		<u> </u>	Ψ2,913.00	\$14,675.00	\$3,500.00	\$17,500.00	\$11,760.00	\$58,800.00	\$2,902.00	\$14,510.00
37	BELOW GRADE AIR RELEASE ASSEMBLY	EA	1 1	\$1,630.00	\$1,630.00	\$3,500.00	\$3,500.00	\$1,764.00	64 764 00	64.000.00	24 000 00
	WATER SERVICE	EA	2	\$2,670.00	\$5,340.00	\$4,500,00	\$9,000.00	\$4,410.00	\$1,764.00 \$8,820.00	\$4,086.00 \$4,325.00	\$4,086.00
	WATER SERVICES/METER	<u> </u>	-	Ψ2,070.00	\$5,540.00	\$4,500.00	\$9,000.00	\$4,410.00	\$0,020.00	\$4,325.00	\$8,650.00
	RECONNECTIONS	EA	2	\$2,980.00	\$5,960.00	\$2,500.00	\$5,000.00	\$882.00	64 704 00	*** ***	24 000 00
	HYDRANT RELOCATION	EA	1	\$2,678.00	\$2,678.00	\$2,500.00	\$2,500.00	\$2,450.00	\$1,764.00 \$2,450.00	\$2,000.00	\$4,000.00
	SODDING (ASSUMING 6' WIDE TRENCH)		<del>  - ' -  </del>	Ψ2,076.00	\$2,076.00	\$2,500.00	\$2,500.00	\$2,450.00	\$2,450.00	\$2,121.00	\$2,121.00
	(ADDENDUM #1)	SY	3,364	\$2.60	\$8,746.40	<b>62.0</b> 5	640.000.00	20.04	20 000 40		
	PAVEMENT REPAIR AND ROAD	- 31	3,304	\$2.60	\$0,746.40	\$3.25	\$10,933.00	\$2.94	\$9,890.16	\$1.90	\$6,391.60
	RESTORATION (ASSUMING 6' WIDE					l l					
	TRENCH)	SY	1,137	240.00	204 000 00	205 50					
	MISCELLANEOUS CONCRETE	CY		\$19.00 \$645.00	\$21,603.00	\$35.50	\$40,363.50	¥ :=::=	\$51,255.96	\$31.00	\$35,247.00
	CONCRETE CURB	LF	10		\$2,580.00	\$500.00	\$2,000.00	\$318.50	\$1,274.00	\$416.00	\$1,664.00
		LF_	10	\$280.00	\$2,800.00	\$150.00	\$1,500.00	\$34.30	\$343.00	\$26.00	\$260.00
	DRIVEWAY RESTORATION (ASSUMING 6' WIDE TRENCH)	SY	113	****	200 776 66	205.55	** ***				
	IN-PLACE GROUTING OF EXISTING 6"	ाट	113	\$290.00	\$32,770.00	\$25.00	\$2,825.00	\$45.08	\$5,094.04	\$31.00	\$3,503.00
	PIPE	LF	اممدا	A40 ==	201.005	<b></b>					
	IN-PLACE GROUTING OF EXISTING 8"		2,298	\$10.59	\$24,335.82	\$5.00	\$11,490.00	\$2.45	\$5,630.10	\$7.00	\$16,086.00
	PIPE	LF	1.024	640.05	040.450.40	05.55	05.405.55				
4/		LF	1,024	\$12.85	\$13,158.40	\$5.00	\$5,120.00	\$2.94	\$3,010.56	\$7.00	\$7,168.00

						PHILLIPS AND JORDAN,					
				MCLEOD L	AND SERVICES		NC.	STATELY CONTRACTORS		STEELE & ASSOCIATES, INC.	
					TH ST CT E		OX 2295	6028 33RD ST E		7561 INDUSTRIAL CT.	
				SARASOTA, FL 34243		ZEPHYRHILLS, FL 33539		BRADENTON, FL 34203		ALPHARETTA, GA 30004	
					)22-1861	813-783-1132		941-756-4700		770-475-8199	
				771	EXTENDED	013-7	EXTENDED	741-7	EXTENDED		0-473-6177
NO.	DESCRIPTION	U/M	QTY	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE	LINIT DDICE	EXTENDED PRICE
26	2" GATE VALVE	EA	1								
27	6" GATE VALVE	EA EA	<del></del>	\$334.72	\$334.72	\$392.60	\$392.60		\$542.00	<del></del>	\$750.00
28	8" GATE VALVE	EA EA	7	\$633.08	\$4,431.56	7	\$5,452.44		\$5,229.00		\$7,000.00
29	10" GATE VALVE	EA EA	4	\$913.79	\$3,655.16		\$4,602.28	· · · · · · · · · · · · · · · · · · ·	\$4,836.00		\$6,000.00
30	12" GATE VALVE	EA EA	5 3	\$1,443.09	\$7,215.45	\$1,830.66	\$9,153.30		\$8,475.00		\$12,000.00
31	16" BUTTERFLY VALVE	EA EA	+	\$1,674.22	\$5,022.66		\$6,426.48		\$6,276.00		\$9,300.00
32	HYDRANT ASSEMBLY	EA EA	11	\$2,970.12	\$32,671.32		\$41,823.87	\$3,567.00	\$39,237.00		\$55,000.00
33	HYDRANT BLOW-OFF ASSEMBLY	EA EA	3	\$4,446.39	\$13,339.17	\$1,783.02	\$5,349.06		\$14,355.00		\$18,000.00
33	HTDRAINT BLOW-OFF ASSEMBLT	EA	1	\$4,513.93	\$4,513.93	\$7,416.25	\$7,416.25	\$5,300.00	\$5,300.00	\$8,500.00	\$8,500.00
34	10" FIRE LINE BACK-FLOW PREVENTER	EA	2		*** *** ***	***					
34	16" MASTER METER ASSEMBLY WITH	EA	-	\$13,130.25	\$26,260.50	\$20,052.03	\$40,104.06	\$12,767.00	\$25,534.00	\$12,000.00	\$24,000.00
	PVR (Supplied by Manatee County)										
0.5	(ADDENDUM #1) (ADDENDUM #2) provide		Ι.								
35	installation cost only	EA	1	\$3,053.51	\$3,053.51	\$9,545.97	\$9,545.97	\$13,200.00	\$13,200.00	\$5,000.00	\$5,000.00
1	ABOVE GROUND AIR RELEASE		l _								
36	ASSEMBLY	EA	5	\$2,049.50	\$10,247.50	\$3,581.90	\$17,909.50	\$2,700.00	\$13,500.00	\$3,000.00	\$15,000.00
2.7	DELOW ODADE AID DELEASE ASSEMBLY		١.								
37	BELOW GRADE AIR RELEASE ASSEMBLY	EA_	1	\$2,756.09	\$2,756.09	\$4,739.17	\$4,739.17	\$3,330.00	\$3,330.00		\$750.00
38	WATER SERVICE	EA	2	\$727.79	\$1,455.58	\$1,097.50	\$2,195.00	\$2,300.00	\$4,600.00	\$2,700.00	\$5,400.00
20	WATER SERVICES/METER RECONNECTIONS										
39 40	HYDRANT RELOCATION	EA EA	2	\$1,023.66	\$2,047.32	\$1,466.77	\$2,933.54		\$3,400.00		\$3,600.00
40	SODDING (ASSUMING 6' WIDE TRENCH)	EA	1	\$1,154,71	\$1,154.71	\$1,281.53	\$1,281.53	\$1,500.00	\$1,500.00	\$1,200.00	\$1,200.00
44	(ADDENDUM #1)	01/	2 204								
41		SY	3,364	\$1.85	\$6,223.40	\$2.52	\$8,477.28	\$2.50	\$8,410.00	\$2.00	\$6,728.00
	PAVEMENT REPAIR AND ROAD										
40	RESTORATION (ASSUMING 6' WIDE	0)/	4.40-								
42	TRENCH)	SY	1,137	\$25.59	\$29,095.83	\$43.21	\$49,129.77	_	\$30,699.00		\$79,590.00
	MISCELLANEOUS CONCRETE	CY	4	\$199.97	\$799.88	\$330.05	\$1,320.20	\$330.00	\$1,320.00		\$1,000.00
44	CONCRETE CURB DRIVEWAY RESTORATION (ASSUMING 6'	LF	10	\$35.00	\$350.00	\$67.70	\$677.00	\$33.00	\$330.00	\$50.00	\$500.00
45	WIDE TRENCH)	CV	140	***	** ***						
<b>4</b> 5	IN-PLACE GROUTING OF EXISTING 6"	SY	113	\$32.00	\$3,616.00	\$32.91	\$3,718.83	\$37.00	\$4,181.00	\$65.00	\$7,345.00
46	PIPE	LF	2 200		A4 450 55		A= .aa	<u>.                                    </u>	<b>A.A.</b> ===		
40	IN-PLACE GROUTING OF EXISTING 8"	LF	2,298	\$1.81	\$4,159.38	\$2.35	\$5,400.30	\$7.00	\$16,086.00	\$2.00	\$4,596.00
47	PIPE	LF	1,024		A0 505		A	<b></b>	<b></b>		
4/	I II L	LF	1,024	\$2.31	\$2,365.44	\$4.04	\$4,136.96	\$7.50	\$7,680.00	\$2.50	\$2,560.00

				WESTRA (	CONSTRUCTION			
					CORP.	WOODRU	FF & SONS, INC.	
				P.O	BOX 1149	P.O. BOX 10127		
				PALME	TTO, FL 34220	BRADENTON, FL 34282-0127		
				941	1-123-1611	941-756-1871		
						UNIT	EXTENDED	
NO.	DESCRIPTION	U/M	QTY	UNIT PRICE	EXTENDED PRICE	PRICE	PRICE	
26	2" GATE VALVE	EA	1	\$675.00	\$675.00	\$785.04	\$785.04	
27	6" GATE VALVE	ĒΑ	7	\$875.00	\$6,125.00	\$1,105.74	\$7,740.18	
28	8" GATE VALVE	EA	4	\$1,298.00	\$5,192.00	\$1,399.83	\$5,599.32	
29	10" GATE VALVE	EA	5	\$1,812.00	\$9,060.00	\$2,001.57	\$10,007.85	
30	12" GATE VALVE	EΑ	3	\$3,212.00	\$9,636.00	\$2,451.56	\$7,354.68	
31	16" BUTTERFLY VALVE	EA	11	\$3,300.00	\$36,300.00	\$3,895.16	\$42,846.76	
32	HYDRANT ASSEMBLY	EA	3	\$4,784.00	\$14,352.00	\$4,588.76	\$13,766.28	
33	HYDRANT BLOW-OFF ASSEMBLY	EA	1	\$6,939.00	\$6,939.00	\$7,739.80	\$7,739.80	
34	10" FIRE LINE BACK-FLOW PREVENTER	EA	2	\$14,300.00	\$28,600.00	\$11,716.81	\$23,433.62	
	16" MASTER METER ASSEMBLY WITH							
	PVR (Supplied by Manatee County)							
	(ADDENDUM #1) (ADDENDUM #2) provide							
35	installation cost only	EA	1	\$2,152.00	\$2,152.00	\$2,917.29	\$2,917.29	
	ABOVE GROUND AIR RELEASE							
36	ASSEMBLY	EA	5	\$2,695.00	\$13,475.00	\$3,004.03	\$15,020.15	
							,	
37	BELOW GRADE AIR RELEASE ASSEMBLY	EA	1	\$3,995.00	\$3,995.00	\$4,261.88	\$4,261.88	
38	WATER SERVICE	EA	2	\$1,195.00	\$2,390.00	\$2,068.94	\$4,137.88	
	WATER SERVICES/METER							
39	RECONNECTIONS	EA	2	\$1,200.00	\$2,400.00	\$1,475.99	\$2,951.98	
40	HYDRANT RELOCATION	EA	1	\$3,069.00	\$3,069.00	\$1,204.38	\$1,204.38	
	SODDING (ASSUMING 6' WIDE TRENCH)							
41	(ADDENDUM #1)	SY	3,364	\$2.35	\$7,905.40	\$3.41	\$11,471.24	
	PAVEMENT REPAIR AND ROAD							
	RESTORATION (ASSUMING 6' WIDE							
42	TRENCH)	SY	1,137	\$25.65	\$29,164.05	\$28.59	\$32,506.83	
43	MISCELLANEOUS CONCRETE	CY	4	\$186.00	\$744.00	\$448.72	\$1,794.88	
44	CONCRETE CURB	LF	10	\$48.15	\$481.50	\$50.32	\$503.20	
4.5	DRIVEWAY RESTORATION (ASSUMING 6'					j		
45	WIDE TRENCH)	SY	113	\$49.50	\$5,593.50	\$157.06	\$17,747.78	
40	IN-PLACE GROUTING OF EXISTING 6"				ĺ			
46	PIPE	LF	2,298	\$2.90	\$6,664.20	\$2.46	\$5,653.08	
47	IN-PLACE GROUTING OF EXISTING 8"	LF	1,024	\$4.15	\$4,249.60	\$3.34	\$3,420,46	
	<u> </u>	<u> </u>	1,044	φ4.13	₩4,249.60	φ <b>3.34</b> ]	\$3,420.16	

				A&L UNDERGROUND INC.				C&M ROADBUILDERS, INC.			
					elrose Dr.	5149 SW US 17		5728 33RD ST. E.		3801 N ORANGE AVE.	
					KS 66214 38-2981	ARCADIA, FL 34266 863-993-2588		SARASOTA, FL 34243 941-758-1933		SARASOTA, FL 34234	
ſ			1	713-4	EXTENDED	UNIT EXTENDED		UNIT EXTENDED		941-355-8575 EXTENDED	
NO.	DESCRIPTION	U/M	QTY	UNIT PRICE		PRICE	PRICE	PRICE	PRICE	UNIT PRICE	PRICE
	IN-PLACE GROUTING OF EXISTING 10"										
48	PIPE	LF	64	\$17.00	\$1,088.00	\$9.99	\$639.36	\$25.00	\$1,600.00	\$7.50	\$480.00
	IN-PLACE GROUTING OF EXISTING 12"				-						
49	PIPE IN-PLACE GROUTING OF EXISTING 14"	LF	6,846	\$6.00	\$41,076.00	\$5.13	\$35,119.98	\$30.00	\$205,380.00	\$14.40	\$98,582.40
50	PIPE	LF	3,584	\$8.00	\$28,672.00	<b>6</b> E CO	#00 440 00	***	2425 442 22		*** * * * * * * * * * * * * * * * * * *
	IMPACTED SOILS		3,304	\$6.00	\$20,672.00	\$5.62	\$20,142.08	\$35.00	\$125,440.00	\$18.40	\$65,945.60
	REMOVAL/REPLACEMENT (ADDENDUM										
51	<b>#1</b> )	CY	673	\$67.00	\$45,091.00	\$60.01	\$40,386.73	\$160.00	\$107,680.00	\$70.95	\$47,749.35
	GROUND WATER									7,1,1,1	<u> </u>
52	TREATMENT/DEWATERING	LS	1	\$119,000.00	\$119,000.00	\$24,397.83	\$24,397.83	\$88,000.00	\$88,000.00	\$21,650.00	\$21,650.00
53	DISCRETIONARY	LS	1		\$200,000.00		\$200,000.00		\$200,000.00		\$200,000.00
	TOTAL BID PRICE:				\$1,544,232.60		\$1,358,356.82		\$2,824,257.00		\$1,678,292.35
	Acknowledge Site Visit				Yes		Yes				
									Yes		Yes
	Acknowledge Addendum 1				Yes		Yes		Yes		Yes
	Acknowledge Addendum 2				Yes		Yes		Yes		Yes
	Vendor subcontracting				Yes		Yes		Yes		Yes
	The Florida Trench Safety Act				Yes		Yes		Yes		Yes
	Contractor's Questionnaire				Yes		Yes		Yes		Yes
	Drug Free Work Place Certification				Yes		Yes		Yes		Yes
	Public Contracting & Environmental Crimes				Yes		Yes		Yes		Yes
	Affidavit as to Local Business-Supplied										
	Document with BID				No		Yes		Yes		Yes
	Bond Included				Yes		Yes		Yes		Yes

				E.T. MACKENZIE OF FLORIDA, INC. 6212 33RD ST E		DAVE FOOTE ENVIRONMENTAL		FORSBERG CONSTRUCTION, INC.		NOR	CONTRACTING TH, LLC
						6091 GREENBRIAR FARMS				14525 SHADY HILLS RD	
			-		BRADENTON, FL 34203 941-756-6760		FT. MYERS, FL 33905 239-369-6146		GORDA, FL 33982 41-637-8500	SPRING HILL, FL 34610 (863) 665-7867	
F		1		UNIT	EXTENDED	239-3	EXTENDED	UNIT UNIT		(803)	EXTENDED
NO.	DESCRIPTION	U/М	QTY	PRICE	PRICE	UNIT PRICE	PRICE		EXTENDED PRICE	UNIT PRICE	PRICE
	IN-PLACE GROUTING OF EXISTING 10"										.,,,,,
48	PIPE	LF	64	\$23.50	\$1,504.00	\$15.00	\$960.00	\$6.00	\$384.00	\$6.10	\$390.40
	IN-PLACE GROUTING OF EXISTING 12"			·							
49	PIPE	LF	6,846	\$8.90	\$60,929.40	\$3.00	\$20,538.00	\$6.00	\$41,076.00	\$7.95	\$54,425.70
50	IN-PLACE GROUTING OF EXISTING 14"	LF	3,584	\$11.00	\$39,424.00	\$4.00	\$14,336,00	\$8.00	\$28.672.00	\$10.15	\$36.377.60
	IMPACTED SOILS		0,00		, , , , , , , , , , , , , , , , , , ,		<b>411,000.00</b>	40.00	425,512.55	<b>\$10.10</b>	\$55,577.55
	REMOVAL/REPLACEMENT (ADDENDUM										
51	#1)	CY	673	\$62.50	\$42,062.50	\$59.00	\$39,707.00	\$80.00	\$53,840.00	\$62.57	\$42,109.61
<b> </b>	GROUND WATER										
52	TREATMENT/DEWATERING	LS	1	\$43,360.00	\$43,360.00	\$9,100.00	\$9,100.00	\$20,000.00		\$17,500.00	\$17,500.00
53	DISCRETIONARY	LS	1		\$200,000.00		\$200,000.00		\$200,000.00		\$200,000.00
	TOTAL BID PRICE:				\$1,478,980.66		\$1,563,713.00		\$2,083,757.00		\$1,795,698.89
	Acknowledge Site Visit				Yes		Yes		Yes		Yes
	Acknowledge Addendum 1				Yes		Yes		Yes		Yes
	Acknowledge Addendum 2				Yes		Yes		Yes		Yes
	Vendor subcontracting				Yes		Yes		Yes		Yes
	The Florida Trench Safety Act				Yes		Yes		Yes		Yes
	Contractor's Questionnaire				Yes		Yes		Yes		Yes
	Drug Free Work Place Certification				Yes		Yes		Yes		Yes
	Public Contracting & Environmental Crimes				Yes		Yes		Yes		Yes
	Affidavit as to Local Business-Supplied Document with BID				Yes		did not provide		Yes		did not provide
	Bond Included				Yes		Yes		Yes		Yes

						l'						
				GENERAL CONTRACTING		GULFCOAST UTILITY				KUXHAUSEN		
					CES, INC.	CONSTRUCTORS, INC.		CARL HANKINS, INC.		CONSTRUCTION, INC.		
					P O BOX 630		1363 22ND ST N		14512 N. NEBRASKA AVE.		PO BOX 21087	
				PLACIDA	, FL 33946	ST. PETERSBURG, FL 33713		- <del></del>		SARASOTA, FL 34276-408		
				941-69	97-2047	727-328-7882		813-977-7270		941-379-6603		
					EXTENDED	UNIT	EXTENDED		EXTENDED		EXTENDED	
NO.	DESCRIPTION	U/M	QTY	UNIT PRICE	PRICE	PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE	
	IN-PLACE GROUTING OF EXISTING 10"											
48	PIPE	LF	64	\$32.00	\$2,048.00	\$5.00	\$320.00	\$4.90	\$313.60	\$8.00	\$512.00	
49	IN-PLACE GROUTING OF EXISTING 12" PIPE	LF	6,846	\$15.00	\$102,690.00	\$5.00	\$34,230.00	\$4.90	\$33,545.40	\$8.00	\$54,768.00	
	IN-PLACE GROUTING OF EXISTING 14"					-						
50	PIPE	LF	3,584	\$18.00	\$64,512.00	\$5.00	\$17,920.00	\$5.88	\$21,073.92	\$10.00	\$35,840.00	
	IMPACTED SOILS										.=	
	REMOVAL/REPLACEMENT (ADDENDUM					-						
51	#1) GROUND WATER	CY	673	\$44.00	\$29,612.00	\$75.00	\$50,475.00	\$57.33	\$38,583,09	\$20.00	\$13,460.00	
52	TREATMENT/DEWATERING	LS	1	\$34,500.00	#24 F00 00	#7F 000 00	#75 000 00	#40.000.00	#40 000 00	#40 400 00	#40 400 00	
53	DISCRETIONARY	LS	1	\$34,500.00	\$34,500.00 \$200,000.00	*******************	\$75,000.00 \$200,000.00	\$49,000.00	\$49,000.00 \$200,000.00	***************************************	\$10,400.00 \$200,000.00	
	JIGGKE TIGHT (K)				Ψ200,000.00		\$200,000.00		\$200,000.00		\$200,000.00	
	TOTAL BID PRICE:				\$1,736,953.62		\$1,887,677.50		\$1,710,183.71		\$1,593,329.10	
	Acknowledge Site Visit				Yes		Yes		Yes		Yes	
	Acknowledge Addendum 1				Yes		Yes		Yes		Yes	
	Acknowledge Addendum 2				Yes		Yes		Yes		Yes	
	Vendor subcontracting				Yes		Yes		Yes		Yes	
	The Florida Trench Safety Act				Yes		Yes		Yes		Yes	
	Contractor's Questionnaire				Yes		Yes		Yes		Yes	
	Drug Free Work Place Certification				Yes		Yes		Yes		Yes	
	Public Contracting & Environmental Crimes				Yes		Yes		Yes		Yes	
	Affidavit as to Local Business-Supplied											
	Document with BID				Yes		did not provide		Yes		did not provide	
	Bond Included				Yes		Yes		Yes		Yes	

							PHILLIPS AND JORDAN,					
				<u> </u>	AND SERVICES	INC.		STATELY CONTRACTORS		STEELE & ASSOCIATES, INC.		
				<u> </u>	7405 28TH ST CT E		OX 2295		BRD ST E	7561 INDUSTRIAL CT.		
					ΓA, FL 34243		LLS, FL 33539		ON, FL 34203	ALPHARETTA, GA 30004		
			<u> </u>	941-9	941-922-1861		813-783-1132		941-756-4700		0-475-8199	
NO.	DESCRIPTION	U/M	Ωτν	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	LINIT PRICE	EXTENDED PRICE	
	IN-PLACE GROUTING OF EXISTING 10"	<u> </u>	<u> </u>	0.0		CINITINOL	111102	OM TRIOL	TRIOL	OMIT TRIOL	DATEMBEDT MOL	
48	PIPE	1.F	64	\$6.56	\$419.84	\$7.46	\$477.44	\$8.00	\$512.00	\$5.00	\$320.00	
	IN-PLACE GROUTING OF EXISTING 12"			<b>V</b> 0.00		\$1.10	<b>V</b> 171.11	\$5.55	4012.00	\$5.55	<b>\$020.00</b>	
	PIPE	LF	6,846	\$2.74	\$18,758.04	\$9.30	\$63,667.80	\$9.00	\$61,614.00	\$5.00	\$34,230.00	
	IN-PLACE GROUTING OF EXISTING 14"											
50	PIPE	LF	3,584	\$4.22	\$15,124.48	\$12.52	\$44,871.68	\$10.25	\$36,736.00	\$7.00	\$25,088.00	
	IMPACTED SOILS REMOVAL/REPLACEMENT (ADDENDUM											
51	#1)	CY	673	\$41.78	\$28,117.94	\$85.52	<b>\$</b> 57.554.00	*0.00	#C 057 00	200.00	240,000,00	
	GROUND WATER	C1	0/3	\$41.70	\$20,117.94	\$65.52	\$57,554.96	\$9.00	\$6,057.00	\$60.00	\$40,380.00	
52	TREATMENT/DEWATERING	LS	1	\$59,425.67	\$59,425.67	\$8,395,03	\$8,395.03	\$30,000.00	\$30,000.00	\$40,000.00	\$40,000.00	
53	DISCRETIONARY	LS	1		\$200,000.00	000000000000000000000000000000000000000	\$200,000.00		\$200,000.00	7.0,55.00	\$200,000.00	
	TOTAL DID BDIOS											
	TOTAL BID PRICE:				\$1,229,311.15		\$1,606,174.88		\$1,240,647.00		\$2,071,885.00	
	Acknowledge Site Visit				Yes		Yes		Yes		Yes	
	Acknowledge Addendum 1				Yes		Yes		Yes		Yes	
	Acknowledge Addendum 2				Yes		Yes		Yes		Yes	
	Vendor subcontracting				Yes		Yes		Yes		Yes	
	The Florida Trench Safety Act				Yes		Yes		Yes		Yes	
	Contractor's Questionnaire				Yes		Yes		Yes		Yes	
	Drug Free Work Place Certification				Yes		Yes		Yes		Yes	
	Public Contracting & Environmental Crimes				Yes		Yes		Yes		Yes	
	Affidavit as to Local Business-Supplied						-					
	Document with BID				Yes		Yes		Yes		Yes	
	Bond Included				Yes		Yes		Yes		Yes	

				WESTRA	CONSTRUCTION		
					CORP.	WOODRU	FF & SONS, INC.
				P.O	BOX 1149	P.O.	BOX 10127
					TTO, FL 34220		ON, FL 34282-0127
				941	1-123-1611		1-756-1871
NO.	DESCRIPTION	U/M	QTY	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
	IN-PLACE GROUTING OF EXISTING 10"		ļ				
48	PIPE IN-PLACE GROUTING OF EXISTING 12"	LF	64	\$5.40	\$345.60	\$21.46	\$1,373.4
49	PIPE	LF	6,846	\$4.75	\$32,518.50	\$4.11	¢20 127 0
	IN-PLACE GROUTING OF EXISTING 14"		0,040	94.75	\$32,516.50	φ4.11	\$28,137.0
50	PIPE	LF	3,584	\$5.70	\$20,428.80	\$7.12	\$25,518.0
	IMPACTED SOILS						
	REMOVAL/REPLACEMENT (ADDENDUM						
51	#1)	CY	673	\$57.65	\$38,798.45	\$76.63	\$51,571.9
	GROUND WATER	,,	_				
<u>52</u> 53	TREATMENT/DEWATERING DISCRETIONARY	LS	1 1	\$6,391.00	\$6,391.00 \$200,000.00	\$13,984.52	\$13,984.5
- 33	DISCRETIONARY	I LO			\$200,000.00		\$200,000.0
	TOTAL BID PRICE:				\$1,475,499.25		\$1,543,620.5
	Acknowledge Site Visit				Yes		Yes
	Acknowledge Addendum 1				Yes		Yes
	Acknowledge Addendum 2				Yes		Yes
	Vendor subcontracting				Yes		Yes
	The Florida Trench Safety Act				Yes		Yes
	Contractor's Questionnaire				Yes		Yes
	Drug Free Work Place Certification				Yes		Yes
	Public Contracting & Environmental Crimes				Yes		Yes
	Affidavit as to Local Business-Supplied						
••••	Document with BID				Yes		Yes
	Bond Included				Yes	<u> </u>	Yes
					Gigliotti Contracting North L Base "B".	LC-changed nead	iers to read base "A" an
					Carl Hankins, Incmathema	tical multiplication	error line # 31unit pric
				Notes:	prevails see A.18		
					Phillips & Jordan Bid "B" un noted accordingly on tabular		different than Bid"A"
				KEYED BY:	· /)_	sel Vi	-chand n
				KETED BT.	· 710 S	$\frac{nO_1}{n}$	LA MICO
				DATE:	17/0	59	
				CHECKED	ву: <u>Отп</u>	am	alle
				DATE:	8/7/00		
				DATE:	-1.101		